TIG WELDING

trafimet

distributio

'YOUR WELDING PARTNER g

&

Impugnatura TPRO con nuovo
design, disponibile con corpi torcia
standard, flessibili e ad alto grado di
raffreddamento, disponibile anche

in versione Digit. Il cavo e dotato di
copertura in pelle da 70cm e cavi
high-tech. Il cavo potenza ha un
connettore da 50mmgq, tubo gas da
1/4G, tubi acqua con raccordi rapidi.

TPRO

IEE Neues Design mit TPRO
Griff fur guten Halt, verfigbar mit
Standard-, flexiblen und high-
cooling Brennerkdrpern und drei
digitalen Konfigurationen. Die
Schweissbrenner sind ausgeristet
mit 70 cm Leder und Hi-Tech
Kabeln. Koaxial-Stromkabel mit
50mm?2 Anschluss, Gas %“G

und Wasserschlauchen mit
Schnellkupplung.

XM New design with TPRO handle
with grip, available with standard,
flexible and high-cooling torch heads
and three digital configurations. Torch
is equipped with 70 cm leather cable
and hi-tech cables.

Coaxial power cable with 50mm
connector, gas tube 1/4G, water
tubes with quick connectors.

IEEE Nouvelle poignée grip, pour
corps de torches standards; flexibles;
double refroidissement. Possibilité
de monter 3 différents tipes de
géchettes. Faisceau super souple
avec 70 cm de couverture en cuire.
Raccord puissance ¥ de tour; gaz
1/4G; eau rapides.

TPRO 9 v

L
4

TPRO 17 Ve

J

L
4

TPRO 18

/

5

TPRO SUPER 18

/

5

‘ X 35% 110A DC - 95A AC ‘ ‘ X 35% 140A DC - 125A AC ‘ ’ X 100% |  320A DC - 270A AC ‘ ’ X 100%|  400A DC - 300A AC
TPRO 20 < TPRO SUPER 20 & TPRO 24 J&% TPRO 24W a
‘ X 100% |  250A DC - 220A AC ‘ ‘ X 100% |  320A DC - 250A AC ‘ ’ X 35% 110A DC - 95A AC ‘ ‘ X 35% 180A DC - 120A AC
TPRO 25 2 TPRO 26 %% TPRO SUPER 50 a

L

250A DC - 220A AC

| X 100%

| X35%

180A DC - 150A AC ‘

| X 100%

400A DC - 400A AC ‘

INTERLOCK

Impugnatura TPRO con nuovo
design equipaggiata con corpi torcia
intercambiabili e in tre configurazioni
digitali.

Il cavo e dotato di copertura in pelle
da 70cm e cavi high-tech.

IEE Neues Design mit TPRO
Griff fur guten Halt, geeignet fur
auswechselbare Brennerkorper,
verfigbar mit drei digitalen
Konfigurationen.

Ausgertistet mit 70 cm Leder und
Hi-Tech Kabeln.

INTERLOCK o

INTERLOCK

5

=X New design with TPRO handle
with grip, fitted with interchangeable
torch heads available on three digital
configurations, equipped with 70 cm
leather cable and hi-tech cables.

IEEE Nouvelle poignée grip

TPRO ; pour corps de torches
interchangeables, 7 refroidis a

aire, 5 refroidis a eau. Possibilité

de monter 3 différents tipes de
gachettes. Faisceau super souple
avec capillaires de 0,10mm 2, tuyau
puissance, gaz et eau en silicone ; 70
cm de couverture en cuire. Raccord
puissance V4 de tour; gaz 1/4G; eau
rapides.

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 17



T|G WELDI NG trafimetdistribution.com

FLEXLOCK

Impugnatura TPRO con nuovo IEE Neues Design mit TPRO XM New design with TPRO handle IEEEl  Nouvelle poignée grip

design, equipaggiata con corpi torcia  Griff fir guten Halt, geeignet fir with grip, fitted with interchangeable TPRO; pour corps de torches avec

ruotabili di 360°. auswechselbare und 360° drehbare and 360°turning torch heads. possibilité de double rotation a 360A.

Disponibile in tre configurazioni Brennerkopfe. Available on three digital Possibilité de monter 3 différents

digitali, cavo dotato di copertura in Verfluigbar mit drei digitalen configurations, equipped with 70 cm tipes de gachettes. Faisceau super

pelle da 70cm e cavi high-tech. Konfigurationen, ausgeristet mit 70 leather cable and hi-tech cables. souple avec capillaires de 0,10mm2,
cm Leder und Hi-Tech Kabeln. tuyau puissance, gaz et eau en

silicone; 70 cm de couverture en
cuire. Raccord puissance Vs de tour;
gaz 1/4G; eau rapides.

FLEXLOCK FLEXLOCK

R

ERGOTIG

5

Impugnatura Ergotig, I ERGOTIG Griff, verflgbar mit IEX  Ergotig handle, available with =8 Mini poigné grip, pour corps
disponibile con corpi torcia standard, standard, flexiblen und high-cooling standard, flexible and high-cooling de torches standards; flexibles;
flessibili ed ad alto raffreddamento. Brennerkdpfen. Standard Coaxial- torch heads. Standard coaxial power  double refroidissement. Possibilité
cavo potenza coassiale con Stromkabel mit 50 mm Anschluss, cable with 50mm connector, gas de monter 2 différents tipes de
connettore da 50mm?2, connessione Gas "G, Wasserschlauche mit tube 1/4G, water tubes with quick gachettes + potentiometre. Faisceau
tubo gas con raccordo 1/4G e tubi Schnellkupplung. connectors. standard ou super souple avec 70
acqua con connettori rapidi. cm de couverture en cuire. Raccord
puissance ¥4 de tour; gaz 1/4G; eau
rapides.
ERGOTIG 9 ¥% ERGOTIG 17 Y% ERGOTIG 18 2 ERGOTIG SUPER 18 A

‘ X 35% 110A DC - 95A AC ‘ ‘ X35% |  140ADC - 125A AC ’ ‘ X 100%|  320ADC - 270A AC ‘ ‘ X 100% |  400A DC - 300A AC
ERGOTIG 20 22 ERGOTIG SUPER 20 22 ERGOTIG 24 Y% ERGOTIG 24W A
é /
‘ X 100%|  250A DC - 220A AC ‘ ‘ X 100%|  320A DC - 250A AC ‘ ‘ X 35% 110A DC - 95A AG ‘ ‘ X35% | 180ADC-120AAC
ERGOTIG 25 22 ERGOTIG 26 3
\‘.-‘
‘ X 100% |  250A DC - 220A AC ‘ ‘ X 35% | 180ADC - 150A AC

18 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



TIG WELDING

trafimet

distributio

'YOUR WELDING PARTNER g

TOP

Pulsante francese Crouzet®,
copertura esterna in gomma + 70 cm
di pelle, cavo potenza coassiale con
capillari rame da 0,10mmg, tubi in
silicone, connessione tubo gas con
raccordo M12x1 e tubi acqua con
connettori rapidi.

I Franzosischer Taster mit
Crouzet® Kontakten, Gummi + 70 cm
Leder-Aussenschlauch, Coaxial-
Stromkabel mit 0,10 mm? Kapillarrohr.
Silikonkabel, Gasschlauch mit M12x1
Anschluss, Wasserschlauche mit
Schnellanschlissen.

IEXN French trigger with Crouzet®
contacts, rubber + 70 cm leather
cables external cover, coaxial power
cable with 0,10mm?2 capillary tubes.
Sylicon cables, gas tube with M12x1
connection, water tubes with quick
connectors.

& Poignée tubulaire avec
géachette a lamelle contacteur
Crouzet®. Corps de torches
standards; flexibles; double
refroidissement. Faisceau super
souple avec capillaires de 0,10mm2,
tuyau puissance, gaz et eau en
silicone; 70 cm de couverture en
cuire. Raccord puissance Vs de tour;
gaz M12x1; eau rapides.

9 TOP % 17 TOP v 18 TOP 2 18 TOPHC g
‘ X 35% 110A DC - 95A AC ‘ ‘ X 35% 140A DC - 125A AC ‘ ‘ X 100% |  320A DC - 270A AC ‘ ‘ X 100% |  400A DC - 300A AC

20 TOP & 20TOPHC 2 26 TOP ¥% 50 TOP SHC A
‘ X 100%|  250A DC - 220A AC ‘ ‘ X 100% |  320A DC - 250A AC ‘ ‘ X 35% 180A DC - 150A AC ‘ ‘ X 100%|  400A DC - 400A AC ‘

Pulsante francese Crouzet®,
copertura esterna in tessuto, cavo
potenza coassiale con connettore da
50mmg, connessione tubo gas con
raccordo M12x1 e tubi acqua con
connettori rapidi.

COTON

I Franzosischer Taster mit
Crouzet® Kontakten, Textil-
Ausschlauch, Koaxial-Stromkabel mit
50 mm Anschluss. Gas-Anschluss
M12x1, Wasserschlauche mit
Schnellkupplung.

IEXN French trigger with Crouzet®
contacts, cotton external cover,
coaxial power cable with 50mm
connector. Gas connection M12x1,
water tubes with quick connectors.

EEl  Poignée tubulaire avec
géchette a lamelle contacteur
Crouzet® . Corps de torches
standards; flexibles; double
refroidissement. Faisceau souple
avec couverture en coton tressé.
Raccord puissance Vs de tour; gaz
M12x1; eau rapides.

9 COTON ¥ 17 COTON vs 18 COTON 2 18 COTONHC a
. e

‘ X 35% 110A DC - 95A AG ‘ ‘ X35% | 140ADC-125A AC ‘ ‘ X 100% |  320A DC - 270A AC ‘ ‘ X 100%|  400A DC - 300A AC

20 COTON 2 20 COTONHC 2 26 COTON o

J

A

250A DC - 220A AC

| X 100%

| X 100%

320A DC - 250A AC

| X 35%

180A DC - 150A AC

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 19



TIG WELDING

trafimetdistribution.com

CLASSIC

Pulsante francese Crouzet®,
copertura esterna in gomma, cavo
potenza coassiale con connettore da
50mmg, connessione tubo gas con
raccordo M12x1 e tubi acqua con
connettori rapidi.

I Franzosischer Taster mit
Crouzet® Kontakten, Gummi-
Aussenschlauch, Koaxial-Stromkabel
mit 50 mm Anschluss, Gas-
Anschluss M12x1, Wasserschlauche
mit Schnellkupplung.

IEXN French trigger with Crouzet®
contacts, rubber external cover,
coaxial power cable with 50mm
connector. Gas connection M12x1,
water tubes with quick connectors.

& Poignée tubulaire avec
géachette a lamelle contacteur
Crouzet® . Corps de torches
standards; flexibles; double
refroidissement. Faisceau souple
avec couverture en caoutchouc.
Raccord puissance ¥ de tour; gaz
M12x1; eau rapides.

9 CLASSIC %% 17 CLASSIC vs 18 CLASSIC 2 18 CLASSIC HC g
‘ X 35% 110A DC - 95A AC ‘ ‘ X 35% 140A DC - 125A AC ‘ ’ X 100%|  320ADC - 270A AC ‘ ‘ X 100%|  400A DC - 300A AC

20 CLASSIC S22 20 CLASSIC HC 2 26 CLASSIC J% 28 CLASSIC L3
‘ X 100% |  250A DC - 220A AC ‘ ‘ X 100% |  320A DC - 250A AC ’ X 35% 180A DC - 150A AC ‘ X 35% 220A DC - 180A AC ‘

Pulsante francese Crouzet®,
copertura esterna in gomma, cavo
potenza coassiale con connettore da
50mmg, connessione tubo gas con
raccordo M12x1 e tubi acqua con
connettori rapidi.

INTERLOCK

I Franzosischer Taster mit
Crouzet® Kontakten, Gummi-
Aussenschlauch, Koaxial-Stromkabel
mit 50 mm Anschluss, Gas-
Anschluss M12x1, Wasserschlauche
mit Schnellkupplung.

INTERLOCK

A~

ECO

Pulsante francese Crouzet®,
copertura esterna in gomma, cavo
potenza con connettore da 50mmq
con tubo gas separato con raccordo
M12x1.

INTERLOCK

A~

I Franzosischer Taster mit

Crouzet® Kontakten, Gummi-

Aussenschlauch, Coaxial-Stromkabel

mit 50 mm Anschluss und separaten
Gasschlauch mit M12x1 Mutter
(Uberwurfmutter).

XN French trigger with Crouzet®
contacts, rubber external cover,
coaxial power cable with 50mm
connector. Gas connection M12x1,
water tubes with quick connectors.

IEX French trigger with Crouzet®
contacts, rubber external cover,
power cable with 50mm connector
and separated gas tube with M12x1
nut.

9 ECO o

17 ECO

/\

26 ECO

A

110A DC - 95A AC

| X 35%

X 35%

140A DC - 125A AC

X 35%

180A DC - 150A AC

EEl  Poignée tubulaire avec
géachette a lamelle contacteur
Crouzet® . Corps de torches
standards; flexibles; double
refroidissement. Faisceau souple
avec couverture en caoutchouc.
Raccord puissance Y4 de tour; gaz
M12x1; eau rapides.

EE:8 Poignée tubulaire avec
géchette a lamelle contacteur
Crouzet® . Corps de torches
standards; flexibles. Faisceau gaz
puissance séparés avec couverture
en caoutchouc. Raccord puissance
Y4 de tour ; gaz M12x1 ; eau rapides.

20

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



TIG WELDING

trafimet

distributio

'YOUR WELDING PARTNER g

Impugnatura a tubo, disponibile
anche con corpo torcia flex, con
valvola e con valvola flex. Cavo
potenza coassiale con connettore da
50mm e 2000mm di tubo gas.

TIGV

I Griffrohr, verfligbar mit Ventilen
und flexiblen Ventil-Brennerkdrpern.
Koaxial-Stromkabel mit 50 mm
Anschluss und 2 m Gasschlauch.

IEX Tube handle, available with
valve and valve flexible torch heads.
Coaxial power cable with 50mm

connector and 2000mm gas tube.

TIG 9V

é

TIG 17V g
.;
N
-

TIG 26V

| X 35%

110A DC - 95A AC ‘

| X 35%

140A DC - 125A AC ‘

| X 35%

180A DC - 150A AC

TIG US

Torce Ergotig con connessione
specifica per generatori di tipo
Americano. Le torce hanno il cavo
Potenza separato dal tubo gas nella
versione raffreddata ad aria, mentre
la versione ad acqua puo essere

Il ERGOTIG SchweiBbrenner
mit speziellen Anschlissen fiir
amerikanische Maschinen. Die
SchweiBbrenner sind mit separaten
Strom- und Gaskabeln in der
luftgekiihlten Version erhéltlich. In

IEX Ergotig torches with specific

connection for American machines.
Torches are made of separate power
and gas cables in the air cooled
version, while in water cooled version
you can choose between rubber or

IE8 Torche TIG avec valve : cable
puissance gaz coaxiale. Raccord
puissance % de tour ; tube gaz de
2000mm sens raccord.

I8 Torches Ergotig avec connexion
spécifique pour générateurs
Américaines. Faisceau gaz puissance
séparés pour torches refroidies air,
pour torches refroidies eau on peut
choisir entre la couverture en pvc.

scelta con copertura in gomma o der wassergekuhlten Version kann vynil cover.
pvc. zwischen Gummi- und Vinyliberzug
gewahlt werden.
TIG9 US s TIG17US v TIG18US 2 TIG20US A
¢ Y 4 p é
4 %
\\
‘ X 35% 110A DC - 95A AC ‘ ‘ X35% | 140ADC - 125A AC ‘ ‘X100% 320A DC - 270A AC ‘ ‘X1oo% 250A DC - 220A AC
TIG 26 US o
‘ X 35% |  180A DC - 150A AC ‘
AUTOTIG
AUTOTIG 9 ¥ AUTOTIG 18 ¥ AUTOTIG 20 2  AUTOTIG 26

\ X 35%

110A DC - 95A AC ‘

320A DC - 95A AC

\ X 35%

| ‘X100%

250A DC - 220A AC

180A DC - 150A AC

‘ X 35%

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 21



T|G WELDI NG trafimetdistribution.com

E

EASY 300/400 ¢ il sistema IEE EASY 300/400 ist das Trafimet IEXN EASY 300/400 is the Trafimet IEEl EASY 300/400 est le systeme
Trafimet DE standard per la saldatura  Standardsystem fiir TIG Kaltdraht, standard system for TIG cold wire, Trafimet pour le TIG a fi | froid,

Tig Filo Freddo, ottimo per saldature die beste Losung fur das manuelle best solution for manual welding and excellent pour le soudage manuel
manuali e, comunque, in tutte le SchweiBen da sich die Stromquelle mit however in all situations where the et dans toutes les situations ou le
situazioni dove il generatore & vicino Bedieneinheit immer in unmittelbarer generator is close to the work area. générateur est proche de la zone de
alla zona di lavoro, il traina fi lo EASY Nahe des Werkstlickes befi ndet. Der The wire feeder EASY 300/400 is travail. Le dévidoir EASY 300/400 est
300/400 & posto normalmente a Drahtvorschub EASY 300/400 steht in normally located close to or above normalement placé a proximité ou
ridosso o sopra il generatore TIG. der Regel in der N@he oder oberhalb the TIG torches Generator. au-dessus du générateur TIG.

Le torce TIG con controllo remoto, der SchweiBstromquelle. The TIG torches with remote control Les torches TIG avec commande a
vengono realizzate da 4 metri piuuna  Die WIG-Brenner in 4 mtr. LAdnge are realized from 4 meter length distance sont de 4 métres et en plus
prolunga incorporata da 1.5 m per und Fernregleung hat seitlich eine with an inside extension of 1.5 m to une rallonge de 1,5 m est intégrée

il collegamento del sistema EASY integrierte 1,5mtr. Verlangerung zum connect the EASY 300/400 systemto  pour le raccordement du systeme au
300/400 al generatore TIG. DirektanschluB an die Stromquelle. the TIG generator. générateur EASY 300/400 TIG.
EASY 300 EASY 400 CLASSIC

CONSUMABLES

TIG ELECTRODES

CONNECTIONS

CENTRAL ADAPTORS CONNECTORS SPECIFIC CONNECTIONS ELECTRIC PLUGS
" —— .

© ISh=

"
TSKM 25

470

TORCH HEADS

CONSUMABLES

TIGO-20-25 TIG 17 - 18 - 26 TIG 24 - 24W TIG 50
b | b | b | ’

S

?/’/ 7/ \ &"

S

ia@®

e

N

5 h‘

7 ke A A A @ 27 ke

29 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet
distributio
TIG WELDING / ACCESSORIES R R

CONSUMABLES KIT MASTER KIT

BLISTERED SPARE PARTS

DISPLAY - BLISTER

— = T - f—

Sk

ACCESSORIES

QUICK CONNECTORS REDUCTIONS CABLE CONNECTORS

Seswie _wied. TP

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 23



T|G WELD|NG trafimetdistribution.com

;/07?/'7707

CODE «—> = | TECHNICAL DATA
HA2407-00 4m 12.5° dual L3
HA2807-00 8m 25’ dual ‘1-"‘ 0,45 kg ‘ 0.99 Ib
HA7407-00 4m 12.5" multi V PEAK 113
HA7807-00 8m 25’ multi
. Argon
HB2407-00 4m 12.5° dual flex o
TSK 50-1/4 =E— 0,5+1,6 ‘ .020” + 1/16”
HB2807-00 8m 25° dual flex SK50-1/4G mm !
0,
HB7407-00 4m 12.5° multi flex X35% 110A DG - 95A AC
HB7807-00 8m 25’ multi flex

CONSUMABLES KIT O -
TT0101 1,6 mm 1/16”

TT0102 2,4 mm 3/32” n /
2 B
o |

CONSUMABLES
NOT INCLUDED

312 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

'YOUR WELDING PARTNER g

|| cope Gr e —— REF |y

TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10

TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10

TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10

TC0015 |:D 7 11,2 mm 7/16” 30 mm 13N11 | 10

TC0016 |:D 8 12,7 mm 1/2” 30 mm 13N12 | 10

TC0017 |:D 10 15,7 mm 5/8” 30 mm 13N13 | 10

TC0096 ] 4 6,5 mm 1/4” 48 mm 796F71 | 10

TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10

TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10

TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10

TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10

TC0103 I:@ 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 0207 21 mm 13N25 | 10
TE0003-10 1,0 mm 040" 21 mm 13N26 | 10
TE0003-16 i 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0.5 mm 020" 25 mm 13N20 | 10
TD0003-10 1,0 mm 0407 25 mm 13N21 | 10
TD0003-16 . 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0 mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2mm 1/8” 25 mm 13N24 | 10

BW0063 |ImES———a 147,5 mm 41v24 | 10

BW0064 = 53 mm 41v35 | 10

BW0065 14 17,5 mm 41v33 | 10

EA0129 O 10

A s A s
CODE [ &y | | cooe [ -~
—

Q0001 Iy insulator 10 TPO139 m tig handle 1

TF0009 .M‘ tig torch head 1 CX0077 ‘ tig plug 50 - gas % G

TF0010 *M tig torch head Flex 1 CODE chBLE |y

TT0183 - it Tpro Dual 1 =

THO212 | 4m/125 | 1 .
5\
o184 | S - it Tpro Multi 1
TH0213 gm/25 | 1 |
BW0303 - reduction 1 3/8" 24 UNF
‘ ‘ CODE —> M12x1 16 mm?
BWO0310 a a cable support 1
EA0329 \ ‘ screw 12 THO0332 4m/12.5
12| THO333 8m/25

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

313



T|G WELDI NG trafimetdistribution.com

TPRO 17

;/07?/'7707

CODE «—> = | TECHNICAL DATA
HF2407-00 4m 12.5° dual L3
HF2807-00 8m 25’ dual ‘1-"‘ 0,55 kg ‘ 1.22 b
HF7407-00 4m 12,5 multi V PEAK 113
HF7807-00 8m 25 multi
. Argon
HG2407-00 4m 12.5' dual flex o
TSK 50-1/4 E— | 05:24 ‘ .020” = 3/32”
HG2807-00 | 8&m 25 dualflex | oK 001/4G mm /
0,
HG7407-00 4m 125 mult flex X35% 140A DC - 125A AC
HG7807-00 8m 25' multi flex

CONSUMABLES KIT

TT0103 1,6 mm 1/16”
TT0104 2,4 mm 3/32”

TT0105 32mm 1/8”

CONSUMABLES
NOT INCLUDED

314 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio
TPRO 1 7 'YOUR WELDING PARTNER ‘
| cooe | | ar | [ e —— REF |y

TC0002 m(l 4 6,4 mm 1747 47 mm 10N50 | 10

TG0003 () 5 8 mm 5/16” 47 mm 10N49 | 10

TC0004 (N 6 9,8 mm 3/8” 47 mm 10N48 | 10

TC0005 NI 7 11,2 mm 7/16” 47 mm 10N47 | 10

TC0006 [ D 8 12,7 mm 1/27 47 mm 10N46 | 10

TC0007 |:[] 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0008 I:l] 12 19 mm 3/4” 47 mm 10N44 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10

TC0092 1 D 6 9,5 mm 3/8” 76 mm 10N48L | 10

TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5 mm 0207 47 mm 10N29 | 10
TE0001-10 1,0 mm 0407 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32 47 mm 10N32 | 10
TE0001-32 3,2 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5 mm 0207 50 mm 10N21 | 10
TD0001-10 1,0 mm 0407 50 mm 10N22 | 10
TD0001-16 1,0 mm 040" 50 mm 10N23 | 10
TDO001-20 | 2,0 mm 1/16” 50 mm - 10
TD0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TD0001-32 3,2 mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD0001-48 4,8 mm 3/16” 50 mm 30028 | 10

BW0056 lil= 58 mm - 10

BW0066 [ e=——— 117 mm 57Y02 | 10

BWO0067 18 22,5 mm 57Y04 | 10

EA0130 10

LY ~ LY ~
cooe | | K &y [ | come | | K L
—

TQ0002 N insulator 10 TPO139 m tig handle 1

TF0017 .@-“ tig torch head 1 cX0077 ," Tig Plug 50 Gas 1/4G

TF0022 “M tig torch head Flex 1 CODE CABLE ‘Q“

TT0183 - it Tpro Dual 1

THO212 /12.5° 1
Trotes | SN b kit Tpro Multi 1
TH0213 /25 1
BW0303 - reduction 1 3/8” 24 UNF
[T cooe — Mi2xi 16 mm?
BWO0310 a a cable support 1
EA0329 QY screw 12| THO332 /125
12| TH0333 /25

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 315



T|G WELDI NG trafimetdistribution.com

TPRO 18 C € ENe0974-7

@7‘/07?/'7707

CODE «—> = | TECHNICAL DATA

HR2410-00 4m 12,5’ dual a
HR2810-00 8m 25’ dual ‘1—"‘1 0,90 kg ‘ 1.98 b
HR7410-00 4m 12.5' multi V PEAK 113
HR7810-00 8m 25’ multi

Argon
HS2410-00 4m 12.5' dual flex o

TSK 50-1/4 E— | 05:40 ‘ .020” = 5/32”
HS2810-00 8m 25° dual flex SK50-1/4G mm /
0,
HS7410-00 4m 125 multi flex X 100% 820A DC - 270A AC
HS7810-00 8m 25’ multi flex ﬁ% 4 bar
a3 1.5 /min

@

CONSUMABLES KIT
TT0103 1,6 mm 1/16”
TT0104 2,4 mm 3/32"
TT0105 32mm 1/8”

o {
"7

CONSUMABLES
NOT INCLUDED

316 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

TPRO 18 'YOUR WELDING PARTNER ‘
|| cope or | e —— REF |y

TC0002 m(l 4 6,4 mm 1/4” 47 mm 10N50 | 10

TG0003 () 5 8 mm 5/16” 47 mm 10N49 | 10

TC0004 (N 6 9,8mm 3/8” 47 mm 10N48 | 10

TC0005 NI 7 11,2 mm 7/16” 47 mm 10N47 | 10

TC0006 |:l] 8 12,7 mm 1/2 47 mm 10N46 | 10

TC0007 |:[] 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0008 I:l] 12 19 mm 3/4” 47 mm 10N44 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10

TC0092 1 D 6 9,5 mm 3/8” 76 mm 10N48L | 10

TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5 mm 020 47 mm 10N29 | 10
TE0001-10 1,0 mm .040” 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 32mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5 mm 020 50 mm 10N21 | 10
TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TD0001-16 1,0 mm .040” 50 mm 10N23 | 10
TD0001-20 . 2,0mm 1/16” 50 mm - 10
TD0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TD0001-32 32mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD0001-48 4,8mm 3/16” 50 mm 30028 | 10

BW0056 = 58 mm - 10

BW0066 [i——— 117 mm 57Y02 | 10

BW0067 = 22,5 mm 57v04 | 10

EA0130 O 10

LY ~ LY ~
CODE [ &y | | cooe [ )
—

TQ0002 N insulator 10 TPO139 m tig handle 1

TG0018 W tig torch head 1 CX0080 " tig plug 50 — gas quick conn.

TGO118 “V tig torch head Flex 1 CoDE canie |

TT0183 - it Tpro Dual 1

TH0228 | 4m/125 | 1
Trotes | SN b kit Tpro Multi 1
TH0229 sm/25 | 1
BWO0311 a cable support 3/8” 24 UNF LH
O 10 mm?2
CODE > M12x1
EA0329 [ ‘ screw ‘ ‘ (power) —
1/4G (Gas) —
12 THO0336 4m/12.5 Quick conn.—
H,0)
12| THO337 8m/25

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

317




T|G WELDI NG trafimetdistribution.com

TPRO SUPER 18 C € Eneoora-7

/ ormet

CODE «—> = | TECHNICAL DATA
H12410-00 4m 12.5° dual g
H12810-00 8m 25’ dual /EL 0,90 kg ‘ 1.98 b
H17410-00 4m 12,5 multi
H17810-00 8m 25’ multi TSK 50-1/4G V peak s
Argon
OE— | 05:40mm ‘ .020” + 5/32”
X 100% 400A DC - 300A AC
%a@ 4 bar
a3 1.5 /min

CONSUMABLES KIT

B—
TT0103 1,6 mm 1/16” F,

TT0104 2,4 mm 3/32”

TT0105 32mm 1/8”

CONSUMABLES
NOT INCLUDED

318 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



TPRO SUPER 18

trafimet

distributio

'YOUR WELDING PARTNER g

|| cope or | e —— REF |y

TC0002 Eﬂ:l] 4 6,4 mm 1/47 47 mm 10N50 | 10

TG0003 () 5 8 mm 5/16” 47 mm 10N49 | 10

TC0004 m:l] 6 9,8 mm 3/8” 47 mm 10N48 | 10

TC0005 NI 7 11,2 mm 7/16” 47 mm 10N47 | 10

TC0006 |:l] 8 12,7 mm 1/2” 47 mm 10N46 | 10

TC0007 |:[] 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0008 I:l] 12 19 mm 3/4” 47 mm 10N44 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10

TC0092 (] 6 9,5 mm 3/8” 76 mm 10N48L | 10

TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5mm .020” 47 mm 10N29 | 10
TE0001-10 1,0 mm 040 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4mm 3/32” 47 mm 10N32 | 10
TE0001-32 32 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5 mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TD0001-16 1,0 mm .040” 50 mm 10N23 | 10
TD0001-20 P 2,0 mm 1/16” 50 mm - 10
TD0001-24 2,4mm 3/32” 50 mm 10N24 | 10
TD0001-32 32 mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD0001-48 4,8mm 3/16” 50 mm 30028 | 10

BW0056 L= 58 mm - 10

BW0066 [[rie=——— 117 mm 57Y02 | 10

BW0067 |8 22,5mm 57Y04 | 10

EA0130 O 10

LY ~ LY ~
CODE [ &y | | cooe [ )
—

TQ0008 Il insulator 10 TPO139 m tig handle 1

TG0913 W tig torch head 1 CX0080 " tig plug 50 — gas quick conn.

TG0914 “V tig torch head Flex 1 CoDE canie |

TT0183 " -t kit Tpro Dual 1

TH0228 | 4m/125 | 1
Trotes | SN b kit Tpro Multi 1
THO229 8m/25 | 1
BWO0311 a cable support 3/8" 24 UNF LH
O PP 10 mm?2
CODE > M12x1
EA0329 [ ‘ screw ‘ ‘ (power) —
1/4G (Gas) —
12 THO0336 4m/12.5 Quick conn.—
H,0)
12| THO337 8m/ 25

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

319




T|G WELD|NG trafimetdistribution.com

TPRO 20 C € ENe0974-7

@7‘/07?/'7707

CODE «—> = | TECHNICAL DATA
HU2410-00 4m 12,5’ dual flex a
HU2810-00 8m 25’ dual flex ‘1-"“ 0,85 kg ‘ 1.87 b
HU7410-00 4m 12.5' multi flex V PEAK 113
HU7810-00 8m 25" multi flex
Argon
HV2410-00 4m 12.5' dual o
TSK 50-1/4 EBE— | 05:32 ‘ 020" = 1/8”
HV2810-00 8m 25° dual SK50-1/4G mm !
0,

HV7410-00 4m 125 multi X100% 250A DC - 220A AC
HV7810-00 8m 25’ multi ﬁ% 4 bar

a3 1 Vmin

CONSUMABLES KIT
TT0101 1,6 mm  1/16” H /

TT0102 24 mm 3/32” B

CONSUMABLES
NOT INCLUDED

320 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

'YOUR WELDING PARTNER g

TPRO 20

| | CODE Gr «—> REF gy

TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10

TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10

TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10

TC0015 |:D 7 11,2 mm 716" 30 mm 13N11 | 10

TC0016 I:[I 8 12,7 mm 1/27 30 mm 13N12 | 10

TC0017 I:l] 10 15,7 mm 5/8” 30 mm 13N13 | 10

TC0096 ] 4 6,5 mm 1/4” 48 mm 796F71 | 10

TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10

TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10

TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10

TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10

TC0103 I:@ 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 020" 21 mm 13N25 | 10
TE0003-10 1,0 mm .040” 21 mm 13N26 | 10
TE0003-16 i 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0,5 mm .020” 25 mm 13N20 | 10
TD0003-10 1,0 mm 040" 25 mm 13N21 | 10
TDO0003-16 . 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2 mm 1/8” 25 mm 13N24 | 10

BWO0063 W 147,5 mm 41V24 | 10

BW0064 = 53 mm 41v35 | 10

BW0065 18 17,5 mm 41v33 | 10

EA0129 O 10

A s A s
cope E &y [ | come | ki S

TQO001 [U insulator 10 TPO139 m tig handle 1

TG0020 W tig torch head 1 CX0080 i— tig plug 50 — gas quick conn.

TG0220 kw tig torch head flex 1 CODE CABLE ‘Q’

TT0183 - kit Tpro Dual 1

THO232 | 4m/125 | 1
o184 | S - it Tpro Multi 1
TH0233 8m/25 1 14 28 UNF
BW0304 - reduction 1
‘ ‘ CODE > M12x1
BWO0310 m o cable support (power) —
1/4G (Gas) —
EA0329 N ‘ screw 12| THO334 4m/12.5 Quick conn.—
H
12| TH0335 8m/25' :

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

321




T|G WELD|NG trafimetdistribution.com

TPRO SUPER 20 C € Eneoora-7

@7‘/07?/'7707

CODE «—> | - | | TECHNICAL DATA

U

H62410-00 4m 12.5' dual a
H62810-00 8m 25’ dual IEL 0,85 kg ‘ 1871b
H67410-00 4m 12.5' mult
H67810-00 8m 25’ multi TSK50-1/4G V peax e
Argon
OE— | 05:32mm ‘ 020 = 1/18”
X 100% 320A DC - 250A AC
%a@ 4 bar
23 1.5 I/min

CONSUMABLES KIT
TT0101 1,6 mm  1/16” H /

TT0102 24 mm 3/32” B

CONSUMABLES
NOT INCLUDED

322 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

TPRO SU PER 20 'YOUR WELDING PARTNER ‘
|| cope Gr e —— REF |y

TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10

TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10

TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10

TC0015 [ ] 7 11,2 mm 716" 30 mm 18N11 | 10

TC0016 I:[I 8 12,7 mm 1/22 30 mm 13N12 | 10

TC0017 I:l] 10 15,7 mm 5/8” 30 mm 13N13 | 10

TC0096 ] 4 6,5 mm 1/4” 48 mm 796F71 | 10

TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10

TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10

TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10

TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10

TC0103 I:@ 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 0207 21 mm 13N25 | 10
TE0003-10 1,0 mm 040" 21 mm 13N26 | 10
TE0003-16 i 1,6 mm 116 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2 mm 1/8” 21 mm 13N29 | 10
TD0003-05 0,5 mm 0207 25 mm 13N20 | 10
TD0003-10 1,0 mm 0407 25 mm 13N21 | 10
TD0003-16 - 1,6 mm 1/16” 25 mm 13N22 | 10
TDO0003-20 2,0 mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2 mm 1/8” 25 mm 13N24 | 10

BWO0063 W 147,5 mm 41V24 | 10

BWO0064 = 53 mm 41v35 | 10

BW0065 14 17,5 mm 41v33 | 10

EA0129 O 10

A s A s
CODE [ &y | | cooe | [ [~y

TQO001 [U insulator 10 TPO139 m tig handle 1

TG0912 W tig torch head 1 CX0080 i— tig plug 50 — gas quick conn.

TG0911 B tig torch head Flex " [ oo cane |yl

TT0183 - kit Tpro Dual 1

TH0228 | 4m/125 | 1
o184 | S - it Tpro Multi 1 é
TH0229 8m/25 | 1 |
BW0304 o= reduction : 3/8" 24 UNF LH
10 mm?2
«—> M12x1
BW0310 m cable support | [ cooe | (power) —
1/4G (Gas) —
EA0329 N ‘ screw 12| THO0336 4m/12.5 Quick conn.—
(H,0)
12| THO337 gm/25' :

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

323




T|G WELDI NG trafimetdistribution.com

TPRO 24

;/07?/'7707

CODE «—> = | TECHNICAL DATA
HP2407-00 4m 12.5° dual L3
HP2807-00 8m 25’ dual ‘1-"‘ 0,45 kg ‘ 0.99 Ib
HP7407-00 4m 12.5' multi V PEAK 113
HP7807-00 8m 25° multi

. Argon
HQ2407-00 4m 12.5° dual flex Q ‘
HQ2807-00 am o5 dual flox | TSK50-1/4G E— | 05:24mm .020” = 1/18
HQ7407-00 4m 12.5' mult flex X35% 110A DC - 95A AC
HQ7807-00 8m 25’ multi flex
CONSUMABLES KIT 4 ol

TT0101 1,6 mm 1/16”

TT0102 2,4 mm 3/32” 57/

CONSUMABLES
NOT INCLUDED

324 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet
distributio
TPRO 24 'YOUR WELDING PARTNER ‘

TC0021 m 165 4mm 5/32” 16 mm 53N23 | 10
TC0022 [D 4 6,4 mm 1/4” 16,5 mm 53N24 | 10
TC0023 m 5 8 mm 5/16” 15,6 mm 53N25 | 10
TC0024 [D 6 9,8 mm 3/8” 15,6 mm 53N27 | 10
TC0027 IIG 4 6,4 mm 1/4” 29 mm 53N28 | 10
TC0028 IIG 6 9,8 mm 3/8” 29 mm 53N26 | 10
TE0004-05 0,5 mm 020" 12 mm 53N17 | 10
TE0004-10 1,0 mm 040" 12 mm 53N18 | 10
TE0004-16 1,6 mm 1/16” 12 mm 53N19 | 10
TE0004-24 2,4 mm 3/32” 12 mm 24CB332 | 10
TD0004-05 0,5mm .020” 14 mm 53N15 | 10
TD0004-10 1,0 mm 040" 14 mm 53N16 | 10
(=]
TDO0004-16 1,6 mm 1/16" 14 mm 53N14 | 10
TD0004-24 2,4 mm 3/32” 14 mm 24C332 | 10
| cope | ] [ 7 &y | | cooe caBLE | iy
TQ0004 ﬂﬂ insulator 10 THO212 | 4m/125 | 1
- tig torch hea mm m
TF0024 R ig torch head 63 1 TH0213 8m/25 | 1

3/8” 24 UNF

TF0224 o B tig torch head Flex 118 mm 1

‘ ‘ CODE € > M12x1 16 mm?

TT0183 - it Tpro Dual 1
12| THO332 4m/12.5

o184 | S - it Tpro Multi 1 12 . 8m /o5

BW0303 - reduction 1
BWO0311 a ' cable support

FA5130 - Fitting 3/8 — 24 UNF 1

TPO139 @ tig handle 1
CX0077 ,5. tig plug 50 —gas ¥4 G

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 325



T|G WELDI NG trafimetdistribution.com

TPRO 24W \ C € ENe0974-7

@7‘/07?/'7707

CODE «—> = | TECHNICAL DATA
HY2410-00 4m 12.5° dual g
HY2810-00 8m 25’ dual ‘1-"“ 0,45 kg ‘ 0.99 Ib
HY7410-00 4m 12.5" multi V PEAK 113
HY7810-00 8m 25’ multi
. Argon
HZ2410-00 4m 12.5° dual flex o
TSK 50-1/4 =E— 0,5+1,6 ‘ .020” + 1/16”
HZ2810-00 8m 25° dual flex SK50-1/4G mm !
0,
HZ7410-00 4m 12.5° multi flex X35% 180A DC - 120A AC
HZ7810-00 8m 25’ multi flex

CONSUMABLES KIT
TT0101 1,6 mm 1/16” Bil
TT0102 2,4 mm 3/32” B g

CONSUMABLES
NOT INCLUDED

326 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



TPRO 24W

trafimet
distributio

'YOUR WELDING PARTNER g

TCO0021 m 165 4 mm 5/32” 16 mm 53N23 | 10

TC0022 [D 4 6,4 mm 1/47 16,5 mm 53N24 | 10

TC0023 m 5 8 mm 5/16” 15,6 mm 53N25 | 10

TC0024 [[I 6 9,8 mm 3/8” 15,6 mm 53N27 10

TCO0027 IIG 4 6,4 mm 1/47 29 mm 53N28 | 10

TC0028 I:G 6 9,8 mm 3/8” 29 mm 53N26 | 10
TE0004-05 0,5 mm .020” 12 mm 53N17 | 10
TE0004-10 - 1,0 mm .040” 12 mm 53N18 | 10
TE0004-16 1,6 mm 1/16” 12 mm 53N19 | 10
TE0004-24 2,4 mm 3/32” 12 mm 24CB332 | 10
TD0004-05 0,5 mm 020 14 mm 53N15 | 10
TD0004-10 1,0 mm .040” 14 mm 53N16 | 10

=1
TD0004-16 1,6 mm 1/16” 14 mm 53N14 | 10
TD0004-24 2,4 mm 3/32” 14 mm 24C332 | 10
|| cooe [ 7 | CODE CABLE |

TQO004 m insulator 10 TH0232 4am/125 | 1

TG0024 J——— tig torch head 56 mm 1 TH0233 8m/25 1 14 98 UNF

TF0224 o By tig torch head Flex 118 mm 1 ‘ coDE MA12x1

(power) —
TT0183 " > kit Tpro Dual 1 1/4G (Gas) —
12 THO0334 4m/12.5 Quick conn.—

o184 | S - Kit Tpro Multi 1 12| THo3ss 8m /25 +H.0)

BW0303 - reduction 1

BWO0310 a a cable support 1

EA0329 QY screw

TPO139 @ tig handle 1

CX0080 5—' tig plug 50 - gas quick conn.

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 327




T|G WELD|NG trafimetdistribution.com

TPRO 25 C € ENe0974-7

/ ormet

CODE «—> = | TECHNICAL DATA
HW2410-00 4m 12.5° dual g
HW2810-00 8m 25’ dual IEL 0,85 kg ‘ 187 b
HW7410-00 4m 12,5 multi
HW7810-00 8m 25’ multi TSK 80-1/46G V peak e
Argon
OE— | 05:32mm ‘ .020” = 1/8”
X 100% 250A DC - 220A AC
@a@ 4 bar
a3 1.5 /min

CONSUMABLES KIT

TT0101 1,6 mm 1/16” "'
TT0102 2,4 mm 3/32”

CONSUMABLES
NOT INCLUDED

328 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

FOR ALL CONSUMABLES SEE PAGE 471

TPRO 25 'YOUR WELDING PARTNER ‘
|| cope or | [ e —— REF |y
TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10
TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10
TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10
TC0015 [ ] 7 11,2 mm 7116” 30 mm 13N11 | 10
TC0016 I:D 8 12,7 mm 1/2” 30 mm 13N12 | 10
TC0017 I:l] 10 15,7 mm 5/8” 30 mm 13N13 | 10
TC0096 ] 4 6,5 mm 1/4” 48 mm 796F71 | 10
TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10
TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10
TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10
TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10
TC0103 I:@ 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 0207 21 mm 13N25 | 10
TE0003-10 1,0 mm 0407 21 mm 13N26 | 10
TE0003-16 i 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0,5 mm 0207 25 mm 13N20 | 10
TD0003-10 1,0 mm 0407 25 mm 13N21 | 10
TD0003-16 . 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0 mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2mm 1/8” 25 mm 13N24 | 10
| | cope [ '~ | CODE cABLE |Gy
TQO001 m insulator 10 THO0232 4m/12.8 1
TG0025 tig torch head Flex 127,5mm 1 THO0233 8m/25 1 1/4” 28 UNF
10183 | LI - Kit Tpro Dual | P V121
(power) —
o184 | $ o it Tpro Multi 1 1/4G (Gas) —
12| THO0334 4m/12.5 Quick conn.—
BWO0304 - reduction 1 12| THO0335 8m/25 +,0)
BW0310 el il cable support 1
EA0329 aY screw
TPO139 m tig handle 1
CX0080 5 Tig Plug 50 Gas Quick

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

329




T|G WELDI NG trafimetdistribution.com

TPRO 26

;/07?/'7707

CODE «—> = | TECHNICAL DATA
HK2407-00 4m 12.5° dual L3
HK2807-00 8m 25’ dual ‘1-"‘ 0,80 kg ‘ 1.76 b
HK7407-00 4m 12.5" multi V PEAK 113
HK7807-00 8m 25’ multi
. Argon
HL2407-00 4m 12.5° dual flex o
TSK 50-1/4 =E— 0,5+ 4,0 ‘ .020” + 5/32”
HL2807-00 8m 25° dual flex SK50-1/4G mm /
0,
HL7407-00 4m 12.5° multi flex X35% 180A DC - 150A AC
HL7807-00 8m 25° multi flex

CONSUMABLES KIT

TT0103 1,6 mm 1/16”
TT0104 2,4 mm 3/32”

TT0105 32mm 1/8”

CONSUMABLES
NOT INCLUDED

330 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio
TPRO 26 'YOUR WELDING PARTNER ‘
| cooe | | ar | [} e — REF |yl
TC0002 m(l 4 6,4 mm 14 47 mm 10N50 | 10
TC0003 () 5 8 mm 5/16” 47 mm 10N49 | 10
TC0004 (N 6 9,8 mm 3/8” 47 mm 10N48 | 10
TC0005 NI 7 11,2 mm 716" 47 mm 10N47 | 10

TC0006 8 12,7 mm 1/2” 47 mm 10N46 | 10

TCO0008 12 19 mm 3/4” 47 mm 10N44 | 10

TC0007 I:D 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10
TC0092 C— D |s 9,5 mm 3/8” 76 mm 10N48L | 10
TC0093 C 1D 7 11 mm 76 mm 10N47L | 10

TE0001-05 0,5mm .020” 47 mm 10N29 | 10
TE0001-10 1,0 mm .040” 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TD0001-16 1,0 mm .040” 50 mm 10N23 | 10
TD0001-20 P, 2,0 mm 1/16” 50 mm - 10
TD0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TD0001-32 3,2mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD0001-48 4,8 mm 3/16” 50 mm 30028 | 10
BW0056 LE==] 58 mm - 10
BW0066 [ 117 mm 57Y02 | 10
BW0067 1ug 22,5 mm 57Y04 | 10
EA0130 10
LY ~ LY ~
cope | | E & | | cooe | | 7 &

——
TPO139 m tig handle 1
cX0077 ‘ tig plug 50 — gas ¥ G

CODE caBle |y

TQO0002 D insulator 10

TF0026 o tig torch head 1
TF0027 ..M tig torch head Flex 1

TT0183 - it Tpro Dual 1 i

TH0224 4m/12.5 1

Trotes | SN b kit Tpro Multi 1
TH0225 8m/25 | 1 \

BWO0311 P sl il cable support 5/8” 18 UNF

CODE «—> M12x1

25 mm?

4
&

EA0329 screw

12 THO0344 4m/12.5

12 THO0345 8m/25

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 331



T|G WELDI NG trafimetdistribution.com

TPRO SUPER 50 | C € Encosra?

/ ormet

CODE «—> = | TECHNICAL DATA
H52410-00 4m 12.5° dual g
H52810-00 8m 25’ dual ‘1-"“ 0,90 kg ‘ 1.981b
H57410-00 4m 12.5' multi
: TSK 50-1/4G PEAK 3
H57810-00 8m 25 multi
. Argon
QOE—  32:64mm ‘ 1/8” = 1/47
X 100% 400A DC - 400A AC

REFFMANT

LIQUID__

CONSUMABLES
NOT INCLUDED

332 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



TPRO SUPER 50

trafimet
distributio

'YOUR WELDING PARTNER g

TC0118 I::| 8 12,7 mm 1/2” 48 mm 57N74 10

TCO0119 [:I 10 15,7 mm 5/8” 48 mm 53N88 10

TC0120 [::I 12 19,5 mm 3/4” 48 mm 53N87 10
TE0097-16 1,6 mm 1/16” - 2
TE0097-24 2,4 mm 3/32” - 2
TE0097-32 3,2 mm 1/8” - 2
TE0097-40 4,0 mm 5/32” - 2
TE0097-48 4,8 mm 3/16” - 2
TEO0098-48 4,8 mm 3/16” - 10
TDO0097-16 1,6 mm 1/16” - 10
TD0097-24 2,4 mm 3/32” - 10
TD0097-32 =11 3,2 mm 1/8” - 10
TDO0097-40 4,0 mm 5/32” - 10
TD0097-48 4,8 mm 3/16” - 10

|| cooE [ [ -« REF |y

BW0056 = tig cap 58 mm 58 mm - 10

BWO0066 [LTRE==——| tig cap 117 mm 117 mm 57Y02 10

BWO0067 | wig tig cap 22,5 mm 22,5 mm 57Y04 10

EA0130 O 10

CODE ‘ l #’ | ‘ CODE CABLE ‘ #’ ‘
TQ0993 m insulator 10 TH1400 4m/12.5 1 Q.,
TG0917 .m-“-‘ tig torch head SUPER 50 1 TH1401 8m/25 1 \
3/8” 24 UNF LH
TT0183 " e kit Tpro Dual 1 ‘ coDE ‘ M12x1 16 rr‘1m2
(power) —
o184 | S * - kit Tpro Multi 1 1/4G (Gas) —
12 TH1020 4m/12.5 Quick conn.—

BWO0311 m o cable support 12| TH1021 8m/ 25’ "0

EA0329 QY screw

TPO139 m tig handle 1

CX0080 5— tig plug 50 — gas quick conn.

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

333




T|G WELDI NG trafimetdistribution.com

7y

INTERLOCK C € Eeneoora-7

Trotimeaf

welding & cutting

CODE e —— = - ] hem- [VPEAK] A OE— | X3%
H42407-00 4m 125 dual 9INTERLOCK | 113 Argon | 0,5+1,6mm | 110A DC - 95A AC
H42807-00 8m 25’ dual 17 INTERLOCK| 113 Argon | 0,524 mm | 140ADC - 125A AC
H47407-00 4m 125 multi % |24 INTERLOCK| 113 Argon | 0,5+24mm | 110ADC - 95A AC

TSK 50-1/4G
H47807-00 8m 25' muti | 25 INTERLOCK| 113 Argon | 05+32mm | 110ADC - 95A AC
+ 26 INTERLOCK| 113 Argon | 0,5+4,0mm | 160A DC - 140A AC
A s
cobE | | [ ] S
TF6092 y TPRO 9 1
TF6097 \‘. TPRO 9 Flex 1
TF6172 Qg2 TPRO 17 1
TF6247 \‘. TPRO 24 Flex 1
TF6257 \‘. TPRO 25 Flex 1
TF6260  —— TPRO 26 1
TF6265 \‘. TPRO 26 Flex 1

5 I M20x1,5 \

<
L/

e I M20x1.5
CODE E ‘&"
m—y
TF6200 s O torch head support M12X1 | 1
FOR ALL CONSUMABLES SEE PAGE 471

334 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio
I NTERLOCK 'YOUR WELDING PARTNER ‘

INTERLOCK C € Eeneoora-7

@7‘/07?/'7707

CODE e —— = - | [ fum- NVrPEaAK f [ OE— | X100 <SP =3
H82410-00 4m 125 dual 18 INTERLOCK | 113 |Argon|0,5 + 4,0 mm | 320A DC - 270A AC | 4 bar | 1,5 I/m
H82810-00 8m 25 dual _~| 20INTERLOCK | 113 |Argon 0,5 + 3,2 mm| 250A DG - 220A AC | 4 bar | 1,5 Um

\/'\
H87410-00 4m 125 multi = 24W INTERLOCK| 113 |Argon 0,5 + 2,4 mm | 180A DC - 120A AC | 4 bar |1,5 I/m
TSK 50-1/4G
H87810-00 8m 25’ muti | 25W INTERLOCK| 113 | Argon| 0,5 + 3,2 mm| 250A DC - 220A AC | 4 bar | 1,5 Im
A s
cobE | | [ ] S
TG6180 | . TPRO 18 1
TG6202 . TPRO 20 1
TG6207 \‘. TPRO 20 Flex 1
TG6247 \‘. TPRO 24W Flex 1
TG6257 \‘. TPRO 25W Flex 1

(g

I M20x1,5

%

I M20x1,5

coDE | [ L1

TG6300 m * .« | torch head support M10X1 | 1

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 335



T|G WELDI NG trafimetdistribution.com

FLEXLOCK C € Eeneoora-7

@7‘/07?/'7707

CODE a—— N ] hem- [VPEAK] A OE— | X3%
HD2407-00 4m 12.5° dual FLEXLOCK 9 113 Argon 0,5+1,6 mm 150 DC
HD2807-00 8m 25’ dual FLEXLOCK 9 113 Argon 0,5+1,6 mm 150 DC
HD7407-00 4m 12.5° multi FLEXLOCK 9 113 Argon 0,5+1,6 mm 150 DC
HD7807-00 8m 25’ multi ".,' FLEXLOCK 9 113 Argon 0,5+1,6 mm 150 DC
HI2407-00 4m 12.5° dual “" | FLEXLOCK 17 113 Argon 0,5+2,4 mm 130A DC
HI2807-00 8m 25’ dual TSK 50-1/4G FLEXLOCK 17 113 Argon 0,5+2,4 mm 130A DC
HI7407-00 4m 12.5’ multi FLEXLOCK 17 113 Argon 0,5+2,4 mm 130A DC
HI7807-00 8m 25’ multi FLEXLOCK 17 113 Argon 0,5+2,4 mm 130A DC

— TF0072 . serie 17

— TFO0071 . serie 9

53
6@:@ .oy
TF0070
BW0535 7&

FOR ALL CONSUMABLES SEE PAGE 471

336 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio
F LEX LOC K 'YOUR WELDING PARTNER ‘

FLEXLOCK C € Eeneoora-7

/ fimef

cope > | fm- | B [ [ fem- NPeak f [@E—] X10% [=H=3]
HT2410-00 4m 12.5° dual FLEXLOCK 18 113 Argon| 0,5+4,0 mm 0,5+4,0 mm 4 bar |{1,51/m
HT2810-00 8m 25’ dual FLEXLOCK 18 113 Argon| 0,5+4,0 mm 0,5+4,0 mm 4 bar |1,51/m
HT7410-00 4m 12.5° multi FLEXLOCK 18 113 |Argon| 0,5+4,0 mm 0,5+4,0 mm 4 bar [1,51/m
HT7810-00 8m 25’ multi A FLEXLOCK 18 113 |Argon| 0,5+4,0 mm 0,5+4,0 mm 4 bar [1,51/m
HX2410-00 4m 12.5° dual = FLEXLOCK 20 113 Argon| 0,5+3,2 mm 0,5+ 3,2mm 4 bar |{1,51/m
HX2810-00 8m 25’ dual TSK80-1/4G FLEXLOCK 20 113 Argon| 0,5+3,2 mm 0,5+3,2mm 4 bar |{1,51/m
HX7410-00 4m 12.5’ multi FLEXLOCK 20 113 Argon| 0,5+3,2 mm 0,5+3,2mm 4 bar |{1,51/m
HX7810-00 8m 25’ multi FLEXLOCK 20 113 Argon| 0,5+3,2 mm 0,5+ 3,2mm 4 bar |1,51/m

— TFO0072 . serie 18

— TFO0071 . serie 20

& TG0070
BW0535 —

SSSS

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 337



T|G WELDI NG trafimetdistribution.com

ERGOTIG 9 C € eneoor4-7

@7‘/07?/'7707

CODE «—> = | TECHNICAL DATA
SA1403-00 4m 12.5° sintig L3
SA1803-00 8m 25° sintig /-1—m 0,45 kg ‘ 0.99 Ib
SA2403-00 4m 12.5° dual V PEAK 113
SA2803-00 8m 25° dual ’= . Argon
SB1403-00 4m 12.5° sintig flex
SB1803.00 am o5 sintig flex TSKM25-1/4G oE— 0,5+ 2,4mm ‘ .020” = 3/32”
SB2403-00 4m 12.5° dual flex X35% 110A DG - 95A AC
SB2803-00 8m 25° dual flex
SA1407-00 4m 12.5° sintig
SA1807-00 8m 25’ sintig
SA2407-00 4m 12.5’ dual
SA2807-00 8m 25’ dual
SB1407-00 4m 12.5’ sintig flex
SB1807-00 8m 25’ sintig flex TSK 50-1/4G
SB2407-00 4m 12.5° dual flex —

SB2807-00 8m 25’ dual flex ’

CONSUMABLES KIT
TT0101 1,6 mm  1/16”

TT0102 2,4 mm 3/32”

CONSUMABLES
NOT INCLUDED

338 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



ERGOTIG 9

trafimet

distributio

'YOUR WELDING PARTNER g

| | CODE Gr «—> REF gy

TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10

TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10

TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10

TC0015 |:[| 7 11,2 mm 7/16” 30 mm 13N11 | 10

TC0016 |:[| 8 12,7 mm 1/2” 30 mm 13N12 | 10

TC0017 |:D 10 15,7 mm 5/8" 30 mm 13N13 | 10

TC0096 ] 4 6,5 mm 1/4” 48 mm 796F71 | 10

TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10

TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10

TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10

TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10

TC0103 I:@ 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 020" 21 mm 13N25 | 10
TE0003-10 1,0 mm 040" 21 mm 13N26 | 10
TE0003-16 @ 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0.5 mm 020" 25 mm 13N20 | 10
TD0003-10 1,0 mm 040" 25 mm 13N21 | 10
TDO0003-16 - 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0 mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2mm 1/8” 25 mm 13N24 | 10

BWO0063 W 147,5 mm 41V24 | 10

BW0064 == 53 mm 41v35 | 10

BW0065 14 17,5 mm 41v33 | 10

EA0129 O 10

A s A s
B & [ oom B =

TQO001 [U insulator 10 TPO090 - tig handle 1

TF0009 M‘ tig torch head 1 CX0077 ,54 tig plug 50 - gas ¥ G

TF0010 *M tig torch head Flex 1 CX0087 “' tig plug 25 - gas % G

TT0181 b e Kit Ergotig single 1 [ | cooE cABLE |

TT0182 kit Ergotig dual 1

it Ergotig dual
—— THO046 | 4m/125 | 1
BWO0303 - reduction 1
TH0047 8gm/25 | 1
BW0310 Pl il cable support 8/87 24 UNF
‘ ‘ CODE ¢ > M12x1 16 mm?
EA0329 QY screw |
12| TH0005 4m/125
FOR ALL CONSUMABLES SEE PAGE 471 12| THOOOG 8m/ 25

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

339




T|G WELDI NG trafimetdistribution.com

ERGOTIG 17 C € Eeneoora-7

@7‘/07?/'7707

CODE «—> = | TECHNICAL DATA
SF1403-00 4m 12.5° sintig g
SF1803-00 gm 25’ sintig fromm- 0,55 kg ‘ 1921b
SF2403-00 4m 12.5° dual v PEAK 113
SF2803-00 8m 25’ dual ’= . Argon
SG1403-00 4m 12.5° sintig flex
SG1803-00 8m 25 sintig flex TSKM25-1/4G Q E— 0,5+2,4mm ‘ .020” + 3/32”
SG2403-00 4m 12.5° dual flex X35% 140ADC - 125A AC
SG2803-00 8m 25° dual flex
SF1407-00 4m 12.5° sintig
SF1807-00 8m 25’ sintig
SF2407-00 4m 12.5° dual
SF2807-00 8m 25 dual
SG1407-00 4m 12.5° sintig flex
SG1807-00 8m 25 sintig flex TSK 50-1/4G
SG2407-00 4m 12.5° dual flex
SG2807-00 8m 25’ dual flex ’

CONSUMABLES KIT

TT0103 1,6 mm 1/16”
TT0104 2,4 mm 3/32”

TT0105 32mm 1/8”

\ ‘
15|
CONSUMABLES
NOT INCLUDED

340 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa




trafimet

distributio
ERGOTIG 1 7 'YOUR WELDING PARTNER ‘
| cooe | | ar | [ e —— REF |y
TC0002 Eﬂ:l] 4 6,4 mm 1/4” 47 mm 10N50 | 10
TG0003 () 5 8 mm 5/16” 47 mm 10N49 | 10
TC0004 m:l] 6 9,8mm 3/8” 47 mm 10N48 | 10
TC0005 NI 7 11,2 mm 7/16” 47 mm 10N47 | 10
TC0006 |:l] 8 12,7 mm 1/2” 47 mm 10N46 | 10
TC0007 |:[] 10 15,7 mm 5/8" 47 mm 10N45 | 10
TC0008 I:l] 12 19 mm 3/4 47 mm 10N44 | 10
TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10
TC0092 1 D 6 9,5 mm 3/8” 76 mm 10N48L | 10
TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5mm .020” 47 mm 10N29 | 10
TE0001-10 1,0 mm .040” 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32" 47 mm 10N32 | 10
TE0001-32 3,2 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32" 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TD0001-16 1,0 mm .040” 50 mm 10N23 | 10
TD0001-20 S 2,0 mm 116" 50 mm - 10
TD0001-24 2,4 mm 3/32" 50 mm 10N24 | 10
TD0001-32 32 mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32" 50 mm 54N20 | 10
TD0001-48 4,8mm 3/16” 50 mm 30028 | 10
BW0056 lil= 58 mm - 10
BW0066 [ e=——— 117 mm 57Y02 | 10
BWO0067 g 22,5mm 57Y04 | 10
EA0130 10
Y \ A \
cooe | | ] S| || coe | | ] L]
TQ0002 D insulator 10 TP0090 u tig handle 1
TF0017 .M‘ tig torch head 1 CX0077 ‘ tig plug 50 - gas % G
TF0022 ..M tig torch head Flex 1 CX0087 54‘ tig plug 25 - gas % G
TT0181 o kit Ergotig single 1 ‘ ‘ CODE l CABLE ‘#ﬂ‘
TT0182 kit Ergotig dual 1
— It Ergotig dua THO046 | 4m/125 | 1
BW0303 - reduction 1 THO047 gm/25 | 1
a O 3/8” 24 UNF
BWO0310 cable support ‘ ‘ CODE € > Mi2x1 16 mm2
EA0329 screw
&% 12| TH0005 4m/12.5
FOR ALL CONSUMABLES SEE PAGE 471 e 8m /25

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 341



T|G WELDI NG trafimetdistribution.com

ERGOTIG 18 C € Eeneoora-7

/ ormet

CODE «—> = | TECHNICAL DATA
SR1410-00 4m 12.5' sintig a
SR1810-00 8m 25’ sintig /'1_mL 0,90 kg ‘ 1981b
SR2410-00 4m 12.5' dual
SR2810-00 8m 25’ dual TSK 80-1/46G V peak e
Argon
OE— | 05:40mm ‘ 020" + 5/32”
X 100% 320A DC - 270A AC
@a@ 4 bar
23 1.5 /min

CONSUMABLES KIT

TT0103 1,6 mm 1/16”
TT0104 2,4 mm 3/32”

TT0105 32mm 1/8”

CONSUMABLES 5’
NOT INCLUDED

342 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa




trafimet

distributio

ERGOTIG 1 8 'YOUR WELDING PARTNER ‘
| cooe | or | e —— REF |y
TC0002 Eﬂ:l] 4 6,4 mm 1/47 47 mm 10N50 | 10
TG0003 () 5 8 mm 5/16” 47 mm 10N49 | 10
TC0004 m:l] 6 9,8 mm 3/8” 47 mm 10N48 | 10
TC0005 m:[] 7 11,2 mm 7/16” 47 mm 10N47 | 10
TC0006 |:[I 8 12,7 mm 1/2” 47 mm 10N46 | 10
TC0007 |:[] 10 15,7 mm 5/8” 47 mm 10N45 | 10
TC0008 I:l] 12 19 mm 3/4” 47 mm 10N44 | 10
TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10
TC0092 1 D 6 9,5 mm 3/8” 76 mm 10N48L | 10
TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5 mm .020” 47 mm 10N29 | 10
TE0001-10 1,0 mm .040” 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5 mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TD0001-16 1,0 mm 040 50 mm 10N23 | 10
TD0001-20 P 2,0 mm 1/16” 50 mm - 10
TD0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TD0001-32 3,2 mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD0001-48 4,8 mm 3/16” 50 mm 30028 | 10
BW0056 L= 58 mm - 10
BW0066 lif—=x 117 mm 57Y02 | 10
BW0067 | wig 22,5 mm 57Y04 | 10
EA0130 10
LY ~ LY ~
coDE | [ & | | cooe [ )
TQ0002 N insulator 10 TP0090 n tig handle 1
TG0018 P/;‘ tig torch head 1 CX0080 " tig plug 50 - gas quick conn.
TGO118 s&‘-" tig torch head Flex 1 -
‘ ‘ CODE CABLE ‘\"
TTO181 ar = kit Ergotig single 1
=8 THO145 4am/125 | 1 R
TT0182 a— kit Ergotig dual 1 ‘
THO146 8m/ 25 1 )
BWO0311 a' cable support 3/8” 24 UNF LH
8 mm?2
EA0329 L screw | cooe «—> | ?Sl@é’r) — ‘
1/4G (Gas) —
12| THOO082 4m/125 Quick conn.—
(H,0)
FOR ALL CONSUMABLES SEE PAGE 471 12| THO083 8m/25

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

343




T|G WELDI NG trafimetdistribution.com

ERGOTIG SUPER C € eneoorar

18

@7‘/07?/'7707 /

CODE «—> = | TECHNICAL DATA

S11410-00 4m 12.5° sintig r é
by 090kg | 198lb
S11810-00 8m 25’ sintig TSK 50-1/4G v PEAK 113
Argon
OE— | 05:40mm ‘ 020" + 5/32”
X 100% 400A DC - 300A AC
%a@ 4 bar
a3 1.5 I/min

CONSUMABLES KIT

TT0103 1,6 mm 1/16”
TT0104 2,4 mm 3/32”

TT0105 32mm 1/8”

CONSUMABLES
NOT INCLUDED

344 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



ERGOTIG SUPER 18

trafimet

distributio

'YOUR WELDING PARTNER g

| cooe | or | e —— REF |y

TC0002 Eﬂ:l] 4 6,4 mm 1/47 47 mm 10N50 | 10

TG0003 () 5 8 mm 5/16” 47 mm 10N49 | 10

TC0004 m:l] 6 9,8mm 3/8” 47 mm 10N48 | 10

TC0005 NI 7 11,2 mm 7/16” 47 mm 10N47 | 10

TC0006 |:l] 8 12,7 mm 1/2” 47 mm 10N46 | 10

TC0007 |:[] 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0008 I:l] 12 19 mm 3/4” 47 mm 10N44 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10

TC0092 1 D 6 9,5 mm 3/8” 76 mm 10N48L | 10

TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5mm 020 47 mm 10N29 | 10
TE0001-10 1,0 mm .040” 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TD0001-16 1,0 mm .040” 50 mm 10N23 | 10
TD0001-20 P 2,0 mm 1/16” 50 mm - 10
TD0001-24 2,4mm 3/32” 50 mm 10N24 | 10
TD0001-32 3,2mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD0001-48 4,8mm 3/16” 50 mm 30028 | 10

BW0056 L= 58 mm - 10

BW0066 [[rie=——— 117 mm 57Y02 | 10

BW0067 ] 22,5mm 57Y04 | 10

EA0130 10

LY \ LY \
CODE ‘ - | g | ‘ ‘ CODE - | g |

TQO008 [U insulator 10 E CX0080 i" tig plug 50 — gas quick conn.

TG0913 p‘—"_‘ tig torch head 18HC 1

TG0914 s&f” tig torch head 18HC Flex 1

| cope CABLE |
TT0181 o — kit Ergotig single 1
— TH0228 | 4m/125 | 1
TT0182 a— kit Ergotig dual 1
THO229 8m/25 | 1
BWO0311 Pl il cable support 3/8" 24 UNF LH
10 mm?2
CODE > M12x1 |
EA0329 QY screw [ ] ey —
. 1/4G (Gas) —
TP0090 n tig handle 1 12| THoO336 Am/ 125 Quick conn.—
(H,0)
FOR ALL CONSUMABLES SEE PAGE 471 12| THO337 8m/25

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

345




T|G WELDI NG trafimetdistribution.com

ERGOTIG 20 C € Eeneoora-7

/ ormet

CODE «—> | - | | TECHNICAL DATA

U

SV1410-00 4m 12,5 sintig a
SV1810-00 8m 25° sintig /EL 0,85 kg ‘ 1.871b
SV2410-00 4m 12.5' dual
SV2810-00 8m 25’ dual TSK 50-1/4G o 2
Argon
OE— | 05:32mm ‘ 0207 + 1/8”
X 100% 250A DC - 220A AC
%a@ 4 bar
a3 1.5 1/min

CONSUMABLES KIT
TT0101 1,6 mm  1/16”

TT0102 2,4 mm 3/32”

CONSUMABLES
NOT INCLUDED

346 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

ERGOTIG 20 'YOUR WELDING PARTNER ‘
| cooe | or | [ e —— REF |y
TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10
TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10
TC0014 |:D 6 9,8 mm 3/8” 30 mm 13N10 | 10
TC0015 I:D 7 11,2 mm 716" 30 mm 13N11 | 10
TC0016 I:[I 8 12,7 mm 1/2” 30 mm 13N12 | 10
TC0017 I:l] 10 15,7 mm 5/8” 30 mm 13N13 | 10
TC0096 ] 4 6,5 mm 1/4” 48 mm 796F71 | 10
TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10
TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10
TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10
TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10
TC0103 I:@ 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm .020” 21 mm 13N25 | 10
TE0003-10 1,0 mm .040” 21 mm 13N26 | 10
TE0003-16 @ 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0,5mm .020” 25 mm 13N20 | 10
TD0003-10 1,0 mm .040” 25 mm 13N21 | 10
TD0003-16 - 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2mm 1/8” 25 mm 13N24 | 10
BWO0063 W 147,5 mm 41V24 | 10
BWOO64 = 53 mm 41v35 | 10
BW0065 18 17,5 mm 41v33 | 10
EA0129 O 10
A s A s
CODE | [ &y | | cooe | [ ~
TQO001 U] insulator 10 EA0329 LN screw
TG0020 A == tig torch head 1 TP0090 tig handle 1
TG0220 uw tig torch head flex 1 CX0080 5 tig plug 50 - gas quick conn.
TG0223 ‘.w tig torch head Flesx 125 mm 1 ‘ ‘ CODE GABLE ‘§
TT0181 Kit Ergot | 1
018 c— t Ergotig single THO147 | 4m/125 | 1
T - 7
0182 kit Ergotig dual 1 THO148 8m/25 | 1
1/4” 28 UNF
. 4 mm?2
BWO0304 - reduction 1 ‘ ‘ CODE € > M12x1 |
(power) —
BWO0310 Pl il cable support ) 1/4G (Gas) —
12| THO086 4m/125 Quick connes
(H,0)
FOR ALL CONSUMABLES SEE PAGE 471 12| THO087 8m/25 :

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

347




T|G WELDI NG trafimetdistribution.com

ERGOTIG SUPER Y C € ensosra-7
20 ,

@7‘/07?/'7707

CODE «—> = | TECHNICAL DATA
S61410-00 4m 12.5° sintig %
/EL 0,85 kg ‘ 1.87 b
$61810-00 8m 25 sintig TSK 50-1/4G v PEAK 113
Argon
QOE—  o05:32mm ‘ 020" + 1/8”
X 100% 320A DC - 250A AC
%a@ 4 bar
a3 1.5 1/min

-
5|
o -
CONSUMABLES KIT H /
TT0101 1,6 mm 1/16”
TT0102 2,4 mm 3/32” ﬂ* ’
0
\
CONSUMABLES

NOT INCLUDED

348 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

ERGOTIG SU PER 20 'YOUR WELDING PARTNER ‘
|| cope | ar e —— REF |y
TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10
TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10
TC0014 |:[| 6 9,8 mm 3/8” 30 mm 13N10 | 10
TC0015 I:[l 7 11,2 mm 716" 30 mm 13N11 | 10
TC0016 I:[I 8 12,7 mm 1/2” 30 mm 13N12 | 10
TC0017 I:l] 10 15,7 mm 5/8” 30 mm 13N13 | 10
TC0096 ] 4 6,5 mm 1/4” 48 mm 796F71 | 10
TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10
TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10
TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10
TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10
TC0103 I:@ 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 020" 21 mm 13N25 | 10
TE0003-10 1,0 mm .040” 21 mm 13N26 | 10
TE0003-16 i 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0,5mm .020” 25 mm 13N20 | 10
TD0003-10 1,0 mm 040" 25 mm 13N21 | 10
TDO0003-16 . 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2 mm 1/8” 25 mm 13N24 | 10
BWO0063 W 147,5 mm 41V24 | 10
BW0064 = 53 mm 41v35 | 10
BW0065 18 17,5 mm 41v33 | 10
EA0129 O 10
A s A s
cope | ] & | | cooe E L
TQO001 [U insulator 10 TPO090 tig handle 1
TG0912 W tig torch head 1 ©X0080 ,‘ tig plug 50 — gas quick conn.
TG0911 "w tig torch head Flex 1
| cope CABLE |
TTO181 ar = kit Ergotig single 1
-_— ’
TTO182 - kit Ergotig dual 1 ! THO228 | 4m/125 | 1
. TH0229 gm/25 | 1
BW0304 - reduction 1 3/8” 24 UNF LH
10 mm?2
BWO0310 a a cable support [ cooe - MA2x \
(power) —
1/4G (Gas) —
EA0329 a4 screw 12| TH0336 4m/12.5 Quick conn.—
(H,0)
FOR ALL CONSUMABLES SEE PAGE 471 12| THos37 §m/25

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

349




T|G WELDI NG trafimetdistribution.com

ERGOTIG 24

;/07?/'7707

CODE «—>> | /-—- | = | TECHNICAL DATA

SP1407-00 4m 12.5° sintig L3

SP1807-00 8m 25° sintig /-1—m 0,45 kg ‘ 0.99 Ib
SP2407-00 4m 12.5° dual V PEAK 113

SP2807-00 8m 25’ dual . Argon
SQ1407-00 4m 12.5° sintig flex
g 8m o5 sintig flex TSK 50-1/4G Q E— 0,5+2,4 mm ‘ .020” + 3/32”
5Q2407-00 4m 12.5' dual flex X35% 110A DG - 95A AC
SQ2807-00 8m 25° dual flex

CONSUMABLES KIT 4

TT0101 1,6 mm 1/16”

TT0102 2,4mm 3/32” 57/

CONSUMABLES
NOT INCLUDED

350 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet
distributio
ERGOTI G 24 'YOUR WELDING PARTNER ‘

TC0021 m 165 4mm 5/32" 16 mm 53N23 | 10

TC0022 [D 4 6,4 mm 1/4” 16,5 mm 53N24 | 10

TC0023 m 5 8mm 5/16” 15,6 mm 53N25 | 10

TC0024 [D 6 9,8 mm 3/8” 15,6 mm 53N27 10

TC0027 IIG 4 6,4 mm 1/4” 29 mm 53N28 | 10

TC0028 IIG 6 9,8 mm 3/8” 29 mm 53N26 | 10
TE0004-05 0,5 mm .020” 12 mm 53N17 | 10
TE0004-10 1,0 mm .040” 12 mm 53N18 | 10
TE0004-16 1,6 mm 1/16” 12 mm 53N19 | 10
TE0004-24 2,4 mm 3/32” 12 mm 24CB332 | 10
TDO0004-05 0,5 mm .020” 14 mm 53N15 | 10
TDO0004-10 1,0 mm .040” 14 mm 53N16 | 10

=
TD0004-16 1,6 mm 1/16” 14 mm 53N14 | 10
TD0004-24 2,4 mm 3/32” 14 mm 24C332 | 10
| | cope | | [ &y | | cooe caBle |y
TQO004 m insulator 10 TH0046 am/125 | 1
TF0024 .!’!@' tig torch head 63 mm 1 TH0047 8m/ 25’ 1
3/8” 24 UNF
TF0224 P tig torch head Flex 118 mm 1 ‘ ‘ coDE Mi2x1 16 mm?2
TTO181 - = kit Ergotig single 1
12| THOO005 4m/125
-—

TT0182 a— kit Ergotig dual 1 12 TH0006 8m/25

BWO0303 - reduction 1

BWO0311 a o cable support

EA0329 N ‘ screw

FA5130 = Fitting 3/8 - 24 UNF 1

TPO090 g tig handle 1

CX0077 ,54 tig plug 50 - gas ¥ G

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 351



T|G WELDI NG trafimetdistribution.com

ERGOTIG 24W \ C € Eeneoora-7

@7‘/07?/'7707

CODE «—>> \ /-—- | = | TECHNICAL DATA
SY1410-00 4m 12.5° sintig g
SY1810-00 8m 25’ sintig /'1_mL 0,45 kg ‘ 0.99 Ib
SY2410-00 4m 12.5' dual V PEAK 113
SY2810-00 8m 25’ dual . Argon
$Z1410-00 4m 12.5° sintig flex
T 8m o5 sintig flex TSK 50-1/4G oe— 0,5+ 1,6 mm ‘ .020” + 1/16”
$72410-00 4m 125 dual flex X35% 180ADC - 120A AC
$72810-00 8m 25’ dual flex

CONSUMABLES KIT
TT0101 1,6 mm  1/16” 57/

TT0102 2,4 mm 3/32” m‘ “

CONSUMABLES
NOT INCLUDED

352 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet
distributio
ERGOTI G 24W 'YOUR WELDING PARTNER ‘

TC0021 Ii[l 165 4 mm 5/32” 16 mm 53N23 10

TC0022 [[I 4 6,4 mm 1/4” 16,5 mm 53N24 10

TC0023 m 5 8 mm 5/16” 15,6 mm 53N25 10

TC0024 [D 6 9,8 mm 3/8” 15,6 mm 53N27 10

TC0027 IIG 4 6,4 mm 1/4” 29 mm 53N28 | 10

TC0028 IIG 6 9,8 mm 3/8” 29 mm 53N26 | 10
TEO0004-05 0,5 mm .020” 12 mm 53N17 10
TEO0004-10 1,0 mm .040” 12 mm 53N18 10
TEO0004-16 1,6 mm 1/16” 12 mm 53N19 10
TEO0004-24 2,4 mm 3/32” 12 mm 24CB332 | 10
TDO0004-05 0,5 mm .020” 14 mm 53N15 10
TD0004-10 1,0 mm .040” 14 mm 53N16 10

=
TD0004-16 1,6 mm 1/16” 14 mm 53N14 10
TD0004-24 2,4 mm 3/32” 14 mm 24C332 | 10
| | cope | | [ &y | | cooe caBle |y
TQO004 m insulator 10 THO147 4m/12.5 1
r—tm- : ,
TG0024 - tig torch head 56 mm 1 THO148 8m/25 1 1/4” 28 UNF
TG0224 - tig torch head Flex 118 mm 1
N | cooe e | Miax
(power) —
TTO181 kit Ergotig single 1 1/4G (Gas) —
12 THO086 4m/12.5 Quick conn.—
TT0182 kit Ergotig dual 1 12|  TH0087 8m/25 .0

BWO0303 reduction 1

BWO0310 cable support 1

TP0090 tig handle 1

CX0080 tig plug 50 - gas quick conn.

. &.——"‘
—
o—
-_—
—
o @
EA0329 N ‘ screw

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 353



T|G WELDI NG trafimetdistribution.com

ERGOTIG 25 C € Eeneoo7a-7

/ ormet

CODE «—> | - | | TECHNICAL DATA

U

SW1410-00 4m 12,5 sintig a
SW1810-00 8m 25° sintig /EL 0,85 kg ‘ 1.871b
SW2410-00 4m 12.5' dual
SW2810-00 8m 25° dual TSK 50-1/4G o 2
Argon
OE— | 05:32mm ‘ 0207 + 1/8”
X 100% 250A DC - 220A AC
%a@ 4 bar
a3 1.5 1/min

TT0101 1,6 mm 1/16”

CONSUMABLES KIT T

TT0102 2,4 mm 3/32”

CONSUMABLES
NOT INCLUDED

354 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

FOR ALL CONSUMABLES SEE PAGE 471

ERGOTIG 25 'YOUR WELDING PARTNER g
|| cope or | [ e —— REF |y
TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10
TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10
TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10
TC0015 |:D 7 11,2 mm 7/16” 30 mm 13N11 | 10
TC0016 I:[I 8 12,7 mm 1/2” 30 mm 13N12 | 10
TC0017 I:l] 10 15,7 mm 5/8" 30 mm 13N13 | 10
TC0096 ] 4 6,5 mm 1/4” 48 mm 796F71 | 10
TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10
TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10
TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10
TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10
TC0103 I:@ 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 020" 21 mm 13N25 | 10
TE0003-10 1,0 mm 040" 21 mm 13N26 | 10
TE0003-16 @ 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0.5 mm 020" 25 mm 13N20 | 10
TD0003-10 1,0 mm 040" 25 mm 13N21 | 10
TDO0003-16 - 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0 mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2mm 1/8” 25 mm 13N24 | 10
| | cope [ '~ | CODE cABLE |Gy
TQO001 m insulator 10 THO147 4m/12.5 1
TG0025 tig torch head Flex 127,5mm 1 THO148 8m/25 1 1/4” 28 UNF
TT0181 o — kit Ergotig single 1 ‘ CoDE M12x1
(power) —
TT0182 kit Ergotig dual 1 1/4G (Gas) —
- 12| THO086 4m/12.5 Quick conn.—
BWO0304 - reduction 1 12|  TH0087 8m/25 +,0)
BW0310 P sl il cable support 1
EA0329 N ‘ screw
TP0090 - tig handle 1
CX0080 i— Tig Plug 50 Gas Quick

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

355




T|G WELDI NG trafimetdistribution.com

ERGOTIG 26

;/07?/'7707

CODE «—>> | /-—- | = | TECHNICAL DATA
SK1407-00 4m 12.5° sintig L3
SK1807-00 8m 25° sintig /-1—m 0,80 kg ‘ 176 Ib
SK2407-00 4m 12.5° dual V PEAK 113
SK2807-00 8m 25’ dual . Argon
SL1407-00 4m 12.5° sintig flex
P 8m o5 sintig flex TSK 50-1/4G oe— 0,5+ 4,0mm ‘ .020” + 5/32”
SL2407-00 4m 12.5° dual flex X35% 180A DC - 150A AC
SL2807-00 8m 25’ dual flex

CONSUMABLES KIT

TT0103 1,6 mm 1/16”
TT0104 2,4 mm 3/32”

TT0105 32mm 1/8”

\ 1 o

CONSUMABLES
NOT INCLUDED

356 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio
ERGOTIG 26 'YOUR WELDING PARTNER ‘
| cooe | | ar | [ e —— REF |y
TC0002 Eﬂ:l] 4 6,4 mm 1/47 47 mm 10N50 | 10
TG0003 () 5 8 mm 5/16” 47 mm 10N49 | 10
TC0004 m:l] 6 9,8 mm 3/8” 47 mm 10N48 | 10
TC0005 m:[] 7 11,2 mm 7/16” 47 mm 10N47 | 10
TC0006 |:l] 8 12,7 mm 1/27 47 mm 10N46 | 10
TC0007 |:[] 10 15,7 mm 5/8” 47 mm 10N45 | 10
TC0008 I:l] 12 19 mm 3/4” 47 mm 10N44 | 10
TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10
TC0092 1 D 6 9,5 mm 3/8” 76 mm 10N48L | 10
TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5 mm .020” 47 mm 10N29 | 10
TE0001-10 1,0 mm 040 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5 mm 020 50 mm 10N21 | 10
TD0001-10 1,0 mm 040 50 mm 10N22 | 10
TD0001-16 1,0 mm .040” 50 mm 10N23 | 10
TD0001-20 —_— 2,0 mm 1/16” 50 mm - 10
TDO0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TD0001-32 3,2 mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD0001-48 4,8 mm 3/16” 50 mm 30028 | 10
BW0056 = 58 mm - 10
BW0066 lf— 117 mm 57Y02 | 10
BW0067 ] 22,5 mm 57Y04 | 10
EA0130 10
LY ~ LY ~
cope | | E & | | come | | E &
TQ0002 N insulator 10 TP0090 n tig handle 1
TF0026 ./”— tig torch head 1 CXo0077 ,5' tig plug 50 — gas %+ G
TF0027 o tig torch head Flex 1 ~
| | cooe | came |
TTO181 ar = kit Ergotig single 1
= THOO48 | 4m/125 | 1
TT0182 a— kit Ergotig dual 1
THO0049 8m/25 1
BWO0311 a ' cable support 5/8” 18 UNF
M12x1 25 mm?
EA0329 [ ‘ screw ‘ ‘ CODE >
12| THO007 4m/12.5
FOR ALL CONSUMABLES SEE PAGE 471 12| THO0O8 8m/25

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 357



T|G WELD|NG trafimetdistribution.com

;/07?/'7707

CODE «—> Yy | TECHNICAL DATA

, o
HAB409-10 4m 12,5 lamelle )
/'1-,,, 0,45 kg ‘ 0.99 Ib
HA6809-10 8m 25’ lamelle v PEAK 113
HB6409-10 4m 12.5° lamelle flex ' Tak 50-M12x1 . Argon
oe— 0,5 +2,4mm ‘ .020" + 3/32"
HB6809-10 8m 25° lamelle flex X 35% 110A DG - 95A AG

EQUIPE DE KIT
DE DEMARRAGE

TT0102 2,4 mm 3/32”

358 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

'YOUR WELDING PARTNER g

| cooe | | ar | [ e — REF |y
TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10
TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10
TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10
TC0015 I:[l 7 11,2 mm 7/16” 30 mm 13N11 | 10
TC0016 I:[I 8 12,7 mm 1/2” 30 mm 13N12 | 10
TC0017 I:l] 10 15,7 mm 5/8" 30 mm 13N13 | 10
TC0096 ] 4 6,5mm 1747 48 mm 796F71 | 10
TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10
TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10
TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10
TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10
TC0103 I:E]] 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 020" 21 mm 13N25 | 10
TE0003-10 1,0 mm 040" 21 mm 13N26 | 10
TE0003-16 @ 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0.5 mm 020" 25 mm 13N20 | 10
TD0003-10 1,0 mm 040" 25 mm 13N21 | 10
TDO0003-16 - 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0 mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32" 25 mm 13N23 | 10
TD0003-32 3,2mm 1/8” 25 mm 13N24 | 10
BW0063 |ImES———a 147,5 mm 41v24 | 10
BW0064 = 53 mm 41v35 | 10
BW0065 14 17,5 mm 41v33 | 10
EA0129 O 10

A —~> ~
|| cope | | [ &y | | cooe caBLe | ]
TQO001 [J insulator 10 TH1302 4m/125 | 1 ol
)
TF0009 ._0—"”‘ tig torch head 1 TH1303 8m/25 1
3/8” 24 UNF
TF0010 .\M tig torch head Flex 1 ‘ ‘ CODE ‘ Mi2x1 16 mm?2
TT0176 - gachette a lamelle 1
- 12| THO332 4m/12.5
TPO005 _ tig handle 1 12 THO0333 8m/25
CX0079 5 tig plug 50 - gas M12x1

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 359



T|G WELDI NG trafimetdistribution.com

;/07?/'7707

CODE «—> Yy | TECHNICAL DATA

, o
HF6409-10 4m 12,5 lamelle a
/'1-,,, 0,55 kg ‘ 1221b
HF6809-10 8m 25’ lamelle v PEAK 113
HG6409-10 4m 12.5° lamelle flex ' Tak 50-M12x1 . Argon
oe— 0,5 +2,4mm ‘ .020" + 3/32"
HG6809-10 8m 25° lamelle flex X 35% 140A DG - 125A AG

EQUIPE DE KIT
DE DEMARRAGE

TT0105 32mm 1/8”

360 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

'YOUR WELDING PARTNER g

| | CODE ‘ | Gr ‘ «—> REF gy

TC0002 m(l 4 6,4 mm 1/47 47 mm 10N50 | 10

TC0003 () 5 8 mm 5/16” 47 mm 10N49 | 10

TC0004 (N 6 9,8 mm 3/8” 47 mm 10N48 | 10

TC0005 NI 7 11,2 mm 7716 47 mm 10N47 | 10

TC0006 |:l] 8 12,7 mm 1/2” 47 mm 10N46 | 10

TC0007 |:[] 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0008 I:l] 12 19 mm 3/4” 47 mm 10N44 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10

TC0092 1 D 6 9,5 mm 3/8” 76 mm 10N48L | 10

TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5mm .020” 47 mm 10N29 | 10
TE0001-10 1,0 mm 040 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4mm 3/32” 47 mm 10N32 | 10
TE0001-32 32 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5 mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TD0001-16 1,0 mm .040” 50 mm 10N23 | 10
TD0001-20 P 2,0mm 1/16” 50 mm - 10
TD0001-24 2,4mm 3/32” 50 mm 10N24 | 10
TD0001-32 32 mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD0001-48 4,8 mm 3/16” 50 mm 30028 | 10

BW0056 = 58 mm - 10

BW0066 [i——— 117 mm 57Y02 | 10

BW0067 |8 22,5 mm 57Y04 | 10

EA0130 O 10

A — —
| | cope | | [ | CODE caBLe |y
TQO002 D insulator 10 THO212 | 4m/125 | 1 ol
D)
TFOO17 r&"" tig torch head 1 TH0213 8m/25 | 1
3/8” 24 UNF
TF0022 ._M tig torch head Flex 1 ‘ CODE ‘ Mi2x1 16 mm?2
TT0176 ’ gachette a lamelle 1
- 12| THO332 4m/12.5
TPO004 | (N tig handle 1 12| THO333 8m/25
CX0079 5 tig plug 50 — gas M12x1

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

361




T|G WELDI NG trafimetdistribution.com

;/07?/'7707

CODE «—> Yy | TECHNICAL DATA

A
il A
HR6437-10 4m 12.5 lamelle 8
/'1-,,,1 0,90 kg ‘ 1.98 Ib
HR6837-10 8m 25’ lamelle v PEAK 113
HS6437-10 4m 12.5’ lamelle flex  (Tgk 50-M12x1 . Argon
oE— 0,5+ 4,0 mm ‘ .020" = 5/32"
HS6837-10 8m 25’ lamelle flex X 100% 320A DG - 270A AC
ﬁ% 4 bar
a3 1.5 /min

EQUIPE DE KIT B ,

DE DEMARRAGE al
TTO0105 3,2 mm 1/8”

362 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

'YOUR WELDING PARTNER g

|| cope or | [ e — REF |y

TC0002 m(l 4 6,4 mm 1/4” 47 mm 10N50 | 10

TC0003 () 5 8 mm 5/16” 47 mm 10N49 | 10

TC0004 (N 6 9,8 mm 3/8” 47 mm 10N48 | 10

TC0005 NI 7 11,2 mm 7116 47 mm 10N47 | 10

TC0006 |:l] 8 12,7 mm 1/2” 47 mm 10N46 | 10

TC0007 |:[] 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0008 I:l] 12 19 mm 3/4 47 mm 10N44 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10

TC0092 1 D 6 9,5 mm 3/8” 76 mm 10N48L | 10

TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5 mm 020 47 mm 10N29 | 10
TE0001-10 1,0 mm 040 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5 mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm 040 50 mm 10N22 | 10
TD0001-16 1,0 mm 040 50 mm 10N23 | 10
TD0001-20 —_— 2,0mm 1/16” 50 mm - 10
TD0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TD0001-32 3,2mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD0001-48 4,8 mm 3/16” 50 mm 30028 | 10

BW0056 L= 58 mm - 10

BW0066 [ e=——— 117 mm 57Y02 | 10

BWO0067 L= 22,5 mm 57Y04 | 10

EA0130 O 10

| | cooe [ | CODE caBLe |y
TQ0002 D insulator 10 TH1314 | 4m/125 | 1
TG0018 'w‘: = tig torch head 1 TH1315 8m/25 | 1
3/8” 24 UNF LH
i 10 mm?2
TGO118 «&’-’—’ tig torch head Flex 1 M12x1
‘ CODE < > ‘ (power) — |
o . M12X1
TT0176 - gachette a lamelle 1 (Gas)
12 THO0336 4m/12.5 Quick conn.—
H
TPO004 | (N tig handle 1 12| THO337 8m/25 "0
CX0080 5 tig plug 50 - gas quick conn.

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

363




TIG WELDING

trafimetdistribution.com

18 TOP HC C € Ene0974-7

@7‘/07?/'7707 ,

CODE «—> Yy | TECHNICAL DATA
H16437-10 4m 12.5° lamelle é
by 090kg | 198lb
H16837-10 8m 25’ lamelle TSK 50-M12x1 v PEAK 113
. Argon
OE— | 05:40mm ‘ 020" + 5/32"
X 100% 400A DC - 300A AC
%a@ 4 bar
a3 1.5 I/min

EQUIPE DE KIT
DE DEMARRAGE
TT0105 32mm 1/8”

364 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

'YOUR WELDING PARTNER g

|| cope or | [ e — REF |y

TC0002 m(l 4 6,4 mm 1/4” 47 mm 10N50 | 10

TC0003 () 5 8 mm 5/16” 47 mm 10N49 | 10

TC0004 (N 6 9,8 mm 3/8” 47 mm 10N48 | 10

TC0005 NI 7 11,2 mm 7116 47 mm 10N47 | 10

TC0006 |:l] 8 12,7 mm 1/2” 47 mm 10N46 | 10

TC0007 |:[] 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0008 I:l] 12 19 mm 3/4 47 mm 10N44 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10

TC0092 1 D 6 9,5 mm 3/8” 76 mm 10N48L | 10

TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5 mm 020 47 mm 10N29 | 10
TE0001-10 1,0 mm 040 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5 mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm 040 50 mm 10N22 | 10
TD0001-16 1,0 mm 040 50 mm 10N23 | 10
TD0001-20 —_— 2,0mm 1/16” 50 mm - 10
TD0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TD0001-32 3,2mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD0001-48 4,8 mm 3/16” 50 mm 30028 | 10

BW0056 L= 58 mm - 10

BW0066 hife—— 117 mm 57Y02 | 10

BWO0067 L= 22,5 mm 57Y04 | 10

EA0130 O 10

| | cooe [ | CODE caBLe |y
TQ0008 [U insulator 10 TH1314 | 4m/125 | 1
TG0913 'w‘: = tig torch head 1 TH1315 8m/25 | 1
3/8” 24 UNF LH
i 10 mm?2
TG0914 \&’7’/ tig torch head Flex 1 M12x1
‘ CODE < > ‘ (power) — |
o . M12X1
TT0176 - gachette a lamelle 1 (Gas)
12 THO0336 4m/12.5 Quick conn.—
H
TPO005 | (N tig handle 1 12| THO337 8m/25 "0
CX0080 5 tig plug 50 - gas quick conn.

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

365




T|G WELD|NG trafimetdistribution.com

C € Ene0974-7

@7‘/07?/'7707

CODE «—> Yy | TECHNICAL DATA

A
il A
HU6437-10 4m 12.5 lamelle flex ==
/'1-,,,1 0,85 kg ‘ 1.87 b
HU6837-10 8m 25’ lamelle flex v PEAK 113
HV6437-10 4m 12.5’ lamelle  [Tgk 50-M12x1 . Argon
oe— 0,5+32mm ‘ .020" + 1/8"
HV6837-10 8m 25’ lamelle X 100% 250A DG - 220A AC
%a@ 4 bar
23 1.5 /min
-

EQUIPE DE KIT
DE DEMARRAGE H /
TT0102 2,4 mm 3/32” }'

366 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

'YOUR WELDING PARTNER g

| cooe | | ar | [ e — REF |y
TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10
TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10
TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10
TC0015 I:[l 7 11,2 mm 7/16” 30 mm 13N11 | 10
TC0016 I:[I 8 12,7 mm 1/2” 30 mm 13N12 | 10
TC0017 I:l] 10 15,7 mm 5/8" 30 mm 13N13 | 10
TC0096 ] 4 6,5mm 1747 48 mm 796F71 | 10
TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10
TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10
TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10
TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10
TC0103 I:E]] 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 020" 21 mm 13N25 | 10
TE0003-10 1,0 mm 040" 21 mm 13N26 | 10
TE0003-16 @ 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0.5 mm 020" 25 mm 13N20 | 10
TD0003-10 1,0 mm 040" 25 mm 13N21 | 10
TDO0003-16 - 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0 mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32" 25 mm 13N23 | 10
TD0003-32 3,2mm 1/8” 25 mm 13N24 | 10
BW0063 |ImES———a 147,5 mm 41v24 | 10
BW0064 = 53 mm 41v35 | 10
BW0065 14 17,5 mm 41v33 | 10
EA0129 O 10

A — —
|| cope | | [ &y | | cooe caBLe | ]
TQO001 U] insulator 10 TH0232 4m/12.5 1
TG0020 _Q!Q':—" tig torch head 1 TH0233 8m/25 1| L 28 UNE
TG0220 «w tig torch head flex 1
- CODE «—> M12x1
‘ ‘ ‘ (power)
TTO0176 ’ gachette a lamelle 1 M12x1 (Gas) —
12 THO334 4m/12.5 Quick conn. —
TP0007 _ tig handle 1 12 THO0335 8m/25 (HQO)
CX0080 5 tig plug 50 - gas quick conn.

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 367



TIG WELDING

trafimetdistribution.com

20 TOP HC C € Ene0974-7

@7‘/07?/'7707 ‘

CODE «—> B | TECHNICAL DATA
H66437-10 4m 12.5° lamelle F é
/'1-mL 0,85 kg ‘ 1.87 b
H66837-10 8m 25’ lamelle TSK 50-M12x1 v PEAK 113
. Argon
QOE—  o05:32mm ‘ 020" + 1/8"
X 100% 320A DC - 250A AC
%a@ 4 bar
a3 1.5 1/min

EQUIPE DE KIT
DE DEMARRAGE
TT0102 2,4 mm 3/32”

368 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

20 TOP HC 'YOUR WELDING PARTNER g
|| cope or | [ e — REF |y
TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10
TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10
TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10
TC0015 |:D 7 11,2 mm 7/16” 30 mm 13N11 | 10
TC0016 I:[I 8 12,7 mm 1/2” 30 mm 13N12 | 10
TC0017 I:l] 10 15,7 mm 5/8” 30 mm 13N13 | 10
TC0096 ] 4 6,5mm 1747 48 mm 796F71 | 10
TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10
TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10
TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10
TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10
TC0103 I:E]] 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm .020” 21 mm 13N25 | 10
TE0003-10 1,0 mm 040" 21 mm 13N26 | 10
TE0003-16 @ 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0.5 mm 020" 25 mm 13N20 | 10
TD0003-10 1,0 mm .040” 25 mm 13N21 | 10
TD0003-16 - 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0 mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2mm 1/8” 25 mm 13N24 | 10
BWO0063 W 147,5 mm 41V24 | 10
BWOO64 == 53 mm 41v35 | 10
BW0065 14 17,5 mm 41v33 | 10
EA0129 O 10
| | cooe [ 5 ~ | CODE caBle |y
TQOO001 [J insulator 10 TH1314 | 4m/125 | 1 o
TG0912 _Q!Q*_"‘ tig torch head 20HC 1 TH1315 gm/25 | 1 |
3/8” 24 UNF LH
. i 10 mm2
7G0911 | o« ®hwt="" |  tigtorch head 20HC Flex | 1
s CODE <> M12x1 \
‘ ‘ (power)
TTO0176 ’ gachette a lamelle 1 M12x1 (Gas) —
12 THO0336 4m/12.5 Quick conn. —
TP000S _ tig handle 1 12 THO0337 8m/25 (HQO)
CX0080 5 tig plug 50 - gas quick conn.

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

369




TIG WELDING

;/07?/'7707

CODE e —— fem- [ AR

HK6409-10 4m 12.5° lamelle
HK6809-10 8m 25’ lamelle
HL6409-10 4m 12.5° lamelle flex TSK 50-M12x1
HL6809-10 8m 25’ lamelle flex

EQUIPE DE KIT

DE DEMARRAGE

TTO0105 32mm 1/8”

\

trafimetdistribution.com

TECHNICAL DATA

0,55 kg ‘ 1.221b

113

Argon

0,5 + 4,0 mm ‘ .020" + 5/32"

180A DC - 150A AC

370

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

'YOUR WELDING PARTNER g

| cooe | | ar | 1) «—> REF |yl
TC0002 Eﬂ:[l 4 6,4 mm 1/4 47 mm 10N50 | 10
TC0003 Dj:[] 5 8 mm 5/16” 47 mm 10N49 | 10
TC0004 m:[l 6 9,8 mm 3/8” 47 mm 10N48 | 10
TCO0005 m:l] 7 11,2 mm 7/16” 47 mm 10N47 | 10

TC0006 8 12,7 mm 1/2” 47 mm 10N46 | 10

TCO0008 12 19 mm 3/4” 47 mm 10N44 | 10

TC0007 I:D 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10
TC0092 C— D |s 9,5 mm 3/8” 76 mm 10N48L | 10
TC0093 C 1D 7 11 mm 76 mm 10N47L | 10

TE0001-05 0,5mm .020” 47 mm 10N29 | 10
TE0001-10 1,0 mm .040” 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TD0001-16 1,0 mm .040” 50 mm 10N23 | 10
TD0001-20 — 2,0 mm 1/16” 50 mm - 10
TD0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TD0001-32 3,2mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD0001-48 4,8 mm 3/16” 50 mm 30028 | 10

BW0056 LE==] 58 mm - 10
BW0066 [ 117 mm 57Y02 | 10
BW0067 1ug 22,5 mm 57Y04 | 10
EA0130 O 10
| | cope | | [ &y | | cooe caBLe |y
TQ0002 D insulator 10 TH1356 4m/12.5 1
TF0026 ._Qy— tig torch head 1 TH1357 8m/25 1 \
5/8” 18 UNF
TF0027 tig torch head Flex 1
K~ g [T cooe P— M1‘2x1 25 mmz
TT0176 ’ gachette a lamelle 1
12| THO0344 4m/12.5
TPO005 | (N tig handle 1 12| THO345 8m/25
CX0079 5 tig plug 50 — gas M12x1 1

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 371



T|G WELDI NG trafimetdistribution.com

50 TOP SHC

;/07?/'7707

CODE «—> = | TECHNICAL DATA

H56437-10 4m 12.5° lamelle

/-1—,,,L 0,90 kg ‘ 1.98 Ib
H56837-10 8m 25 lamelle TSK 50-M12x1 v PEAK 113

. Argon
QOE—  32:64mm ‘ 5/32" + 1/4"
X 100% 400A DC - 400A AC

REFFMANT

LIQUID_

372 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



50 TOP SHC

trafimet
distributio

'YOUR WELDING PARTNER g

TC0118 I::| 8 12,7 mm 1/2” 48 mm 57N74 10

TCO0119 [:I 10 15,7 mm 5/8” 48 mm 53N88 10

TC0120 [::I 12 19,5 mm 3/4” 48 mm 53N87 10
TE0097-16 1,6 mm 1/16” - 2
TE0097-24 2,4 mm 3/32” - 2
TE0097-32 3,2 mm 1/8” - 2
TE0097-40 4,0 mm 5/32” - 2
TE0097-48 4,8 mm 3/16” - 2
TEO0098-48 4,8 mm 3/16” - 10
TDO0097-16 1,6 mm 1/16” - 10
TD0097-24 2,4 mm 3/32” - 10
TD0097-32 =11 3,2 mm 1/8” - 10
TDO0097-40 4,0 mm 5/32” - 10
TDO0097-48 4,8 mm 3/16” - 10

| | cope | [ Q —> rer |

BW0056 = tig cap 58 mm 58 mm - 10

BWO0066 [LTRE==——| tig cap 117 mm 117 mm 57Y02 10

BWO0067 | wig tig cap 22,5 mm 22,5 mm 57Y04 10

EA0130 O 10

| | cope | [ &y | | cooe caBle |y
TQO0993 W insulator 10 l s’
TG0917 .m_a_- tig torch head SUPER 50 1 |
3/8” 24 UNF LH
TTO0176 ’- gachette a lamelle 1 ‘ ‘ CODE ‘ M12x1 16 ”‘]mz
(power)
TP0005 Y—— tig handle 1 M12x1 (Gas)—
12 TH1020 4m/12.5 Quick conn. —
CX0080 5 tig plug 50 - gas quick conn. 12|  TH1021 8m/25 H,0)

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

373




T|G WELDI NG trafimetdistribution.com

9 COTON

;/07?/'7707

CODE «—> Yy | TECHNICAL DATA

: R
SA6409-75 4m 125 lamelle a
/'1-,“ 0,45 kg ‘ 0.991b
SA6809-75 8m 25’ lamelle v PEAK 113
) Argon
SB6409-75 4m 12.5 lamelle flex TSK 50-M12x1 .
oe— 0,5 +2,4mm ‘ .020” + 3/32”
SB6809-75 8m 25’ lamelle flex X 35% 110A DC - 95A AC

EQUIPE DE KIT
DE DEMARRAGE

TT0102 2,4 mm 3/32”

374 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio
9 COTON 'YOUR WELDING PARTNER g
| cooe | | ar | [ e — REF |y
TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10
TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10
TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10
TC0015 |:D 7 11,2 mm 7/16” 30 mm 13N11 | 10
TC0016 |:D 8 12,7 mm 1/2” 30 mm 13N12 | 10
TC0017 I:D 10 15,7 mm 5/8" 30 mm 13N13 | 10
TC0096 ] 4 6,5mm 1747 48 mm 796F71 | 10
TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10
TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10
TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10
TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10
TC0103 I:E]] 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 020" 21 mm 13N25 | 10
TE0003-10 1,0 mm 040" 21 mm 13N26 | 10
TE0003-16 @ 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0.5 mm 020" 25 mm 13N20 | 10
TD0003-10 1,0 mm 040" 25 mm 13N21 | 10
TDO0003-16 - 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0 mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2mm 1/8” 25 mm 13N24 | 10
BWO0063 W 147,5 mm 41V24 | 10
BW0064 == 53 mm 41v35 | 10
BW0065 14 17,5 mm 41v33 | 10
EA0129 O 10

A — —
|| cope | | [ &y | | cooe caBLe | ]
TQOO001 [J insulator 10 TH1300 | 4m/125 | 1 .
TF0009 ._0—"”‘ tig torch head 1 TH1301 8m/25 | 1 |
3/8” 24 UNF
TF0010 .\M tig torch head Flex 1 ‘ ‘ CODE Mi2x1 16 mm?2
TT0176 - gachette a lamelle 1
L 12| TH1009 4m/125
TP0004 _ tig handle 1 12 TH1010 8m/25
CX0079 5 tig plug 50 - gas M12x1

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 375



T|G WELDI NG trafimetdistribution.com

17 COTON

;/07?/'7707

CODE «—> Yy | TECHNICAL DATA

: R
SF6409-75 4m 125 lamelle a
/'1-,,, 0,55 kg ‘ 1.221b
SF6809-75 8m 25’ lamelle v PEAK 113
) Argon
SG6409-75 4m 125 lamelle flex  [Tgk 50-M12x1 .
oe— 0,5 +2,4mm ‘ .020” + 3/32”
SG6809-75 8m 25 lamelle flex X 35% 140A DC - 125A AC

EQUIPE DE KIT
DE DEMARRAGE

TT0105 32mm 1/8”

376 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

1 7 COTON 'YOUR WELDING PARTNER ‘
|| cope or | e — REF |y
TC0002 m(l 4 6,4 mm 1/4” 47 mm 10N50 | 10
TC0003 () 5 8 mm 5/16” 47 mm 10N49 | 10
TC0004 (N 6 9,8 mm 3/8” 47 mm 10N48 | 10
TC0005 NI 7 11,2 mm 716" 47 mm 10N47 | 10
TC0006 [ D 8 12,7 mm 1/27 47 mm 10N46 | 10
TC0007 |:[] 10 15,7 mm 5/8” 47 mm 10N45 | 10
TC0008 I:l] 12 19 mm 3/4 47 mm 10N44 | 10
TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10
TC0092 1 D 6 9,5 mm 3/8” 76 mm 10N48L | 10
TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5 mm 020" 47 mm 10N29 | 10
TE0001-10 1,0 mm 040" 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TDO0001-05 0,5 mm 020" 50 mm 10N21 | 10
TD0001-10 1,0 mm 040" 50 mm 10N22 | 10
TDO0001-16 1,0 mm 040" 50 mm 10N23 | 10
TD0001-20 P 2,0 mm 1/16” 50 mm - 10
TDO0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TDO0001-32 3,2 mm 1/8” 50 mm 10N25 | 10
TDO0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TDO001-48 4,8 mm 3/16” 50 mm 30028 | 10
BW0056 = 58 mm - 10
BW0066 lf— 117 mm 57Y02 | 10
BW0067 g 22,5 mm 57Y04 | 10
EA0130 O 10
| | cooe [ | CODE caBLe |y
TQO002 N insulator 10 TH1300 | 4m/125 | 1 ofe
TFOO17 r&"" tig torch head 1 TH1301 8m/25 | 1 |
3/8” 24 UNF
TF0222 uu Flex tig torch head 100 mm 1 ‘ CODE M12x1 16 mm2
TT0176 ’ gachette a lamelle 1
- 12| TH1009 4m/125
TPO004 | (N tig handle 1 12| TH1010 8m/25
CX0079 5 tig plug 50 — gas M12x1

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

377



T|G WELDI NG trafimetdistribution.com

18 COTON A C € eneoor4-7

@7‘/07?/'7707

CODE «—> Yy | TECHNICAL DATA

A
il A
SR6437-75 4m 12,5 lamelle ==
/'1-,,,1 0,90 kg ‘ 1.98 Ib
SR6837-75 8m 25’ lamelle v PEAK 113
$S6437-75 4m 12.5° lamelle flex | Tok 50-M12x1 . Argon
oe— 0,5+4,0 mm ‘ .020"+5/32”
$S6837-75 8m 25’ lamelle flex X 100% 320A DG - 270A AC
%a@ 4 bar
23 1.5 Vmin

EQUIPE DE KIT B /
DE DEMARRAGE
TTO0105 3,2 mm 1/8” H t

378 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

1 8 COTON 'YOUR WELDING PARTNER ‘
|| cope or | [ e — REF |y
TC0002 Eﬂ:l] 4 6,4 mm 1/4” 47 mm 10N50 | 10
TC0003 () 5 8mm 5/16” 47 mm 10N49 | 10
TC0004 m:l] 6 9,8mm 3/8” 47 mm 10N48 | 10
TC0005 NI 7 11,2 mm 7116 47 mm 10N47 | 10
TC0006 |:l] 8 12,7 mm 1/2” 47 mm 10N46 | 10
TC0007 |:[] 10 15,7 mm 5/8" 47 mm 10N45 | 10
TC0008 I:l] 12 19 mm 3/4” 47 mm 10N44 | 10
TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10
TC0092 (] 6 9,5 mm 3/8” 76 mm 10N48L | 10
TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5mm .020” 47 mm 10N29 | 10
TE0001-10 1,0 mm .040” 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32" 47 mm 10N32 | 10
TE0001-32 3,2 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TD0001-16 1,0 mm .040” 50 mm 10N23 | 10
TD0001-20 P 2,0 mm 116" 50 mm - 10
TD0001-24 2,4 mm 3/32" 50 mm 10N24 | 10
TD0001-32 32 mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD0001-48 4,8mm 3/16” 50 mm 30028 | 10
BW0056 L= 58 mm - 10
BW0066 [ e=——— 117 mm 57Y02 | 10
BWO0067 g 22,5mm 57Y04 | 10
EA0130 O 10
| | cooe [ | CODE cABLE |
TQ0002 D insulator 10 TH1312 | 4m/125 | 1
TG0018 'w‘: = tig torch head 1 TH1313 8m/25 | 1
3/8” 24 UNF LH
2 i 10 mm?2
TFO118 ‘M valve tig torch head Flex 1 ‘ CODE - M12x1 |
(power)
TTO0176 ’ gachette a lamelle 1 M12x1 (Gas) —
12 TH1102 4m/12.5 Quick conn. —
H
TPO005 | (N tig handle 1 12| TH1103 8m/25 "0
CX0080 5 tig plug 50 - gas quick conn.

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

379




T|G WELDI NG trafimetdistribution.com

/

CODE «—> Yy | TECHNICAL DATA

18 COTON HC C € Eneoora7

@7‘/07?/'7707

A
$16437-75 4m 12.5° lamelle A
F IEL 0,90 kg ‘ 1.98Ib
S16837-75 8m 25’ lamelle TSK 50-M12x1 v PEAK 113
. Argon
OE— | 05:40mm ‘ .020” + 5/32”
X 100% 400A DC - 300A AC
%a@ 4 bar
a3 1.5 /min

EQUIPE DE KIT B /
DE DEMARRAGE

TT0105 32mm 1/8” ﬂ—,

380 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

1 8 COTON HC 'YOUR WELDING PARTNER ‘
|| cope or | [ e — REF |y
TC0002 m(l 4 6,4 mm 1/4” 47 mm 10N50 | 10
TC0003 () 5 8 mm 5/16” 47 mm 10N49 | 10
TC0004 (N 6 9,8 mm 3/8” 47 mm 10N48 | 10
TC0005 NI 7 11,2 mm 7116 47 mm 10N47 | 10
TC0006 |:[I 8 12,7 mm 1/2” 47 mm 10N46 | 10
TC0007 |:[] 10 15,7 mm 5/8” 47 mm 10N45 | 10
TC0008 I:l] 12 19 mm 3/4 47 mm 10N44 | 10
TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10
TC0092 1 D 6 9,5 mm 3/8” 76 mm 10N48L | 10
TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5 mm 020 47 mm 10N29 | 10
TE0001-10 1,0 mm 040 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5 mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm 040 50 mm 10N22 | 10
TD0001-16 1,0 mm 040 50 mm 10N23 | 10
TD00O01-20 —_— 2,0mm 1/16” 50 mm - 10
TD0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TD0001-32 3,2mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD00O01-48 4,8 mm 3/16” 50 mm 30028 | 10
BW0056 L= 58 mm - 10
BW0066 hife—— 117 mm 57Y02 | 10
BWO0067 L= 22,5 mm 57Y04 | 10
EA0130 O 10
| | cooe [ | CODE cABLE |
TQ0008 [U insulator 10 TH1312 | 4m/125 | 1
TG0913 'w‘: = tig torch head 18HC 1 TH1313 8m/25 | 1
3/8” 24 UNF LH
— . 10 mm?
T60914 | tig toroh head 18HCFlex | 1| p— V21 ‘
(power)
TTO0176 ’ gachette a lamelle 1 M12x1 (Gas) —
12 TH1102 4m/12.5 Quick conn. —
H
TPO005 | (N tig handle 1 12| TH1103 8m/25 "0
CX0080 5 tig plug 50 - gas quick conn.

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

381




T|G WELDI NG trafimetdistribution.com

20 COTON C € eneoo74-7

@7‘/07?/'7707

CODE «—> Yy | TECHNICAL DATA

A
il =
SV6437-75 4m 12,5 lamelle ==
/'1-,,,1 0,85 kg ‘ 1.871b
SV6837-75 8m 25’ lamelle v PEAK 113
SUB437-75 4m 12.5° lamelle flex | Tak 50-M12x1 . Argon
oe— 0,5+32mm ‘ .020” + 1/8”
SU6837-75 8m 25’ lamelle flex X 100% 250A DG - 220 AC
%a@ 4 bar
a3 1.5 /min

EQUIPE DE KIT I‘H/

DE DEMARRAGE B
TT0102 2,4 mm 3/32” m’

382 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

20 COTON 'YOUR WELDING PARTNER g
|| cope or | [ e — REF |y
TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10
TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10
TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10
TC0015 |:D 7 11,2 mm 7/16” 30 mm 13N11 | 10
TC0016 I:[I 8 12,7 mm 1/2” 30 mm 13N12 | 10
TC0017 I:l] 10 15,7 mm 5/8" 30 mm 13N13 | 10
TC0096 ] 4 6,5mm 1747 48 mm 796F71 | 10
TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10
TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10
TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10
TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10
TC0103 I:E]] 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 020" 21 mm 13N25 | 10
TE0003-10 1,0 mm 040" 21 mm 13N26 | 10
TE0003-16 @ 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0.5 mm 020" 25 mm 13N20 | 10
TD0003-10 1,0 mm 040" 25 mm 13N21 | 10
TDO0003-16 - 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0 mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2mm 1/8” 25 mm 13N24 | 10
BW0063 |ImES———a 147,5 mm 41v24 | 10
BW0064 = 53 mm 41v35 | 10
BW0065 14 17,5 mm 41v33 | 10
EA0129 O 10
| | cooe [ | CODE cABLE |
TQO001 [J insulator 10 TH1322 | 4m/125 | 1
TGooz0 | @ tig torch head 1 TH1323 8m/25 1 147 98 UNF
TG0220 &w tig torch head flex 1
. \ CODE -« M12x1
’ (power)
TT0176 ’ gachette a lamelle 1 M12x1 (Gas) _
12| TH1106 4m/125 Quick conn. —
TPO0O7 | (N tig handle 1 12| TH1107 8m/25 H,0)
CX0080 5 tig plug 50 — gas quick conn.

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

383




T|G WELDI NG trafimetdistribution.com

/

CODE «—> Yy | TECHNICAL DATA

20 COTON HC C € Eneoora7

@7‘/07?/'7707

A
$66437-75 4m 12,5 lamelle A
P; IEL 0,85 kg ‘ 1.87 Ib
$66837-75 8m 25’ lamelle TSK 50-M12x1 v PEAK 113
. Argon
OE— | 05:32mm ‘ 020 = 1/8”
X 100% 320A DC - 250A AC
%a@ 4 bar
a3 1.5 /min

EQUIPE DE KIT
DE DEMARRAGE 2 el
TT0102 2,4 mm 3/32” n

384 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio
20 COTON HC 'YOUR WELDING PARTNER g
| cooe | | ar | [ e — REF |y
TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10
TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10
TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10
TC0015 |:D 7 11,2 mm 7/16” 30 mm 13N11 | 10
TC0016 |:D 8 12,7 mm 1/2” 30 mm 13N12 | 10
TC0017 I:D 10 15,7 mm 5/8" 30 mm 13N13 | 10
TC0096 ] 4 6,5mm 1747 48 mm 796F71 | 10
TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10
TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10
TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10
TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10
TC0103 I:E]] 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 020" 21 mm 13N25 | 10
TE0003-10 1,0 mm 040" 21 mm 13N26 | 10
TE0003-16 @ 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0.5 mm 020" 25 mm 13N20 | 10
TD0003-10 1,0 mm 040" 25 mm 13N21 | 10
TDO0003-16 - 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0 mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2mm 1/8” 25 mm 13N24 | 10
BWO0063 W 147,5 mm 41V24 | 10
BW0064 == 53 mm 41v35 | 10
BW0065 14 17,5 mm 41v33 | 10
EA0129 O 10

| | cope | | [ 5 &y | | cooe caBle |y
TQO001 [J insulator 10 TH1312 | 4m/125 | 1
TG0912 _Q!Q*_"‘ tig torch head 1 TH1313 8m/25 | 1
3/8” 24 UNF LH
TG0911 iy

tig torch head Flex 1 ‘ ‘

CODE > | m12x |

(power)
gachette a lamelle 1 M12x1 (Gas) —
12 TH1102 4m/12.5 Quick conn. —

“w
-
TPo005 | (N tig handle 1 12| TH1103 8m/25 H.0)

TT0176

CX0080 tig plug 50 - gas quick conn.

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 385



TIG WELDING

26 COTON

;/07?/'7707

CODE e —— y — =

SK6409-75 4m 12.5° lamelle
SK6809-75 8m 25’ lamelle
SL6409-75 4m 12.5° lamelle flex TSK 50-M12x1
SL6809-75 8m 25’ lamelle flex

EQUIPE DE KIT

DE DEMARRAGE

TTO0105 32mm 1/8”

\

trafimetdistribution.com

TECHNICAL DATA

0,55 kg ‘ 1.221b

113

Argon

0,5 + 4,0 mm ‘ .020” + 5/32”

X 35%

180A DC - 150A AC

386

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



26 COTON

trafimet

distributio

'YOUR WELDING PARTNER g

| | CODE Gr ‘ «—> REF gy

TC0002 m(l 4 6,4 mm 1/4” 47 mm 10N50 | 10

TC0003 () 5 8 mm 5/16” 47 mm 10N49 | 10

TC0004 (N 6 9,8 mm 3/8” 47 mm 10N48 | 10

TC0005 NI 7 11,2 mm 716" 47 mm 10N47 | 10

TC0006 |:l] 8 12,7 mm 1/2” 47 mm 10N46 | 10

TC0007 |:[] 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0008 I:l] 12 19 mm 3/4 47 mm 10N44 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10

TC0092 1 D 6 9,5 mm 3/8” 76 mm 10N48L | 10

TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5 mm 020 47 mm 10N29 | 10
TE0001-10 1,0 mm 040 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5 mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm 040 50 mm 10N22 | 10
TD0001-16 1,0 mm 040 50 mm 10N23 | 10
TD00O01-20 —_— 2,0 mm 1/16” 50 mm - 10
TD0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TD0001-32 3,2mm 1/8” 50 mm 10N25 | 10
TD00O01-40 4,0mm 5/32” 50 mm 54N20 | 10
TD00O01-48 4,8mm 3/16” 50 mm 30028 | 10

BW0056 = 58 mm - 10

BW0066 lf— 117 mm 57Y02 | 10

BWO0067 L= 22,5 mm 57Y04 | 10

EA0130 O 10

| | cooe [ | CODE cABLE |
TQ0002 D insulator 10 TH1350 | 4m/125 | 1
TF0026 ._05— tig torch head 1 TH1351 8m/25 | 1
5/8” 18 UNF
TF0027 K tig torch head Flex 1 | po— Mi2xd 25 mm?
TT0176 ’ gachette a lamelle 1
- 12| TH1003 4m/12.5
TPO005 | (N tig handle 1 12| TH1004 8m/25
CX0079 5 tig plug 50 — gas M12x1

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

387



T|G WELDI NG trafimetdistribution.com

9 CLASSIC C € eneoora7

@7‘/07?/'7707

CODE «—> B | TECHNICAL DATA
=

SAB409-10 4m 12.5° lamelle a?

/'1-,,, 0,45 kg ‘ 0.99 Ib
SA6809-10 8m 25’ lamelle v PEAK 113
SB6409-10 4m 12.5° lamelle flex . Argon

oe— 0,5 +2,4mm ‘ .020” + 3/32”
SB680S-10 | 8m % lamelle flex TS 50-M12x1 X 35% 110A DC - 95A AC
SC6409-10 4m 12.5’ lamelle flex 10
SC6809-10 8m 25’ lamelle flex 10

EQUIPE DE KIT
DE DEMARRAGE

TT0102 2,4 mm 3/32”

388 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



9 CLASSIC

trafimet

distributio

'YOUR WELDING PARTNER g

| | CODE Gr ‘ «—> REF gy

TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10

TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10

TC0014 |:[| 6 9,8mm 3/8” 30 mm 13N10 | 10

TC0015 |:D 7 11,2 mm 716" 30 mm 13N11 | 10

TC0016 I:[I 8 12,7 mm 1/2" 30 mm 13N12 | 10

TG0017 I:l] 10 15,7 mm 5/8" 30 mm 13N13 | 10

TC0096 ] 4 6,5mm 1747 48 mm 796F71 | 10

TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10

TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10

TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10

TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10

TC0103 I:E]] 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5mm .020” 21 mm 13N25 | 10
TE0003-10 1,0 mm .040” 21 mm 13N26 | 10
TE0003-16 @ 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32" 21 mm 13N28 | 10
TE0003-32 32mm 1/8” 21 mm 13N29 | 10
TD0003-05 0,5 mm .020” 25 mm 13N20 | 10
TD0003-10 1,0 mm .040” 25 mm 13N21 | 10
TD0003-16 g 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 32mm 1/8” 25 mm 13N24 | 10

BWO0063 W 147,5 mm 41V24 | 10

BW0064 == 53 mm 41v35 | 10

BW0065 14 17,5 mm 41v33 | 10

EA0129 O 10

| | cooe [ T ~ | CODE CABLE |y
TQO001 U] insulator 10 TH1298 4m/12.5 1
TF0009 M‘ tig torch head 1 TH1299 8 m/ 25’ 1
3/8” 24 UNF
TF0010 .‘M tig torch head Flex 1 ‘ CODE Mi2x1 16 mm?2
TF0222 *H Flex tig torch head 100 mm 1
12| TH1009 4m/12.5°

TT0176 ’ gachette a lamelle 1 12| TH1010 8m/25

TPO004 | (. tig handle 1

CX0079 5 tig plug 50 - gas M12x1 1

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

389




T|G WELDI NG trafimetdistribution.com

17 CLASSIC

;/07?/'7707

CODE «—> Yy | TECHNICAL DATA

: R
SF6409-10 4m 125 lamelle a
/'1-,,, 0,55 kg ‘ 1.221b
SF6809-10 8m 25’ lamelle v PEAK 113
) Argon
SG6409-10 4m 125 lamelle flex  [Tgk 50-M12x1 .
oe— 0,5 +2,4mm ‘ .020” + 3/32”
SG6809-10 8m 25’ lamelle flex X 35% 140A DG - 125A AC

EQUIPE DE KIT
DE DEMARRAGE

TT0105 32mm 1/8”

390 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



17 CLASSIC

trafimet

distributio

'YOUR WELDING PARTNER g

| | CODE ‘ Gr ‘ «—> REF gy

TC0002 m(l 4 6,4 mm 1/4” 47 mm 10N50 | 10

TC0003 () 5 8 mm 5/16” 47 mm 10N49 | 10

TC0004 (N 6 9,8 mm 3/8” 47 mm 10N48 | 10

TC0005 NI 7 11,2 mm 716" 47 mm 10N47 | 10

TC0006 [ D 8 12,7 mm 1/27 47 mm 10N46 | 10

TC0007 |:[] 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0008 I:l] 12 19 mm 3/4 47 mm 10N44 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10

TC0092 1 D 6 9,5 mm 3/8” 76 mm 10N48L | 10

TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5 mm 020" 47 mm 10N29 | 10
TE0001-10 1,0 mm 040" 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TDO0001-05 0,5 mm 020" 50 mm 10N21 | 10
TD0001-10 1,0 mm 040" 50 mm 10N22 | 10
TDO0001-16 1,0 mm 040" 50 mm 10N23 | 10
TD0001-20 P 2,0 mm 1/16” 50 mm - 10
TDO0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TDO0001-32 3,2 mm 1/8” 50 mm 10N25 | 10
TDO0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TDO0001-48 4,8 mm 3/16” 50 mm 30028 | 10

BW0056 = 58 mm - 10

BW0066 lf— 117 mm 57Y02 | 10

BW0067 g 22,5 mm 57Y04 | 10

EA0130 O 10

| | cope | [ | CODE cABLE |
TQO002 N insulator 10 TH1208 | 4m/125 | 1
TFOO17 r&"" tig torch head 1 TH1299 8m/25 | 1
3/8” 24 UNF
TF0022 ._M tig torch head Flex 1 ‘ CODE Mi2x1 16 mm?2
TT0176 ’ gachette a lamelle 1
- 12| TH1009 4m/125
TPO004 | (N tig handle 1 12| TH1010 8m/25
CX0079 5 tig plug 50 — gas M12x1

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

391



T|G WELDI NG trafimetdistribution.com

18 CLASSIC C € eneoora7

@7‘/07?/'7707

CODE «—> Yy | TECHNICAL DATA

A
il A
SR6437-10 4m 12.5 lamelle =
/'1-,,,1 0,90 kg ‘ 1.98 Ib
SR6837-10 8m 25’ lamelle v PEAK 113
$S6437-10 4m 12.5° lamelle flex | Tok 50-M12x1 . Argon
oe— 0,5+4,0 mm ‘ .020"+5/32”
$56837-10 8m 25’ lamelle flex X 100% 320A DG - 270A AC
%a@ 4 bar
a3 1.5 /min

EQUIPE DE KIT
DE DEMARRAGE

TT0105 32mm 1/8”

392 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

1 8 CLASSIC 'YOUR WELDING PARTNER ‘
| cooe | or | [ e — REF |y
TC0002 m(l 4 6,4 mm 1/4” 47 mm 10N50 | 10
TC0003 () 5 8 mm 5/16” 47 mm 10N49 | 10
TC0004 (N 6 9,8 mm 3/8” 47 mm 10N48 | 10
TC0005 NI 7 11,2 mm 716" 47 mm 10N47 | 10
TC0006 |:l] 8 12,7 mm 1/2” 47 mm 10N46 | 10
TC0007 |:[] 10 15,7 mm 5/8” 47 mm 10N45 | 10
TC0008 I:l] 12 19 mm 3/4” 47 mm 10N44 | 10
TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10
TC0092 1 D 6 9,5 mm 3/8” 76 mm 10N48L | 10
TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5mm .020” 47 mm 10N29 | 10
TE0001-10 1,0 mm .040” 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TD0001-16 1,0 mm .040” 50 mm 10N23 | 10
TD0001-20 P 2,0mm 1/16” 50 mm - 10
TD0001-24 2,4 mm 3/32 50 mm 10N24 | 10
TD0001-32 3,2 mm 1/8” 50 mm 10N25 | 10
TD00O01-40 4,0mm 5/32” 50 mm 54N20 | 10
TD0001-48 4,8mm 316’ 50 mm 30028 | 10
BW0056 lil= 58 mm - 10
BW0066 [ e=——— 117 mm 57Y02 | 10
BW0067 |8 22,5 mm 5704 | 10
EA0130 O 10
CODE ‘ N CODE CABLE |y
[ | E ] y
TQ0002 D insulator 10 TH1310 | 4m/125 | 1 afe
TG0018 'w‘ - tig torch head 1 TH1311 8m/25 | 1 |
3/8” 24 UNF LH
— . 10 mm?
TG0118 \& tig torch head Flex 1 ‘ CODE ‘ Mi2x1 |
(power) ——
TTO0176 ’ gachette a lamelle 1 M12x1 (Gas)—
12 TH1102 4m/12.5 Quick conn.—
H
TPO005 | (N tig handle 1 12| TH1103 8m/25 "9
CX0080 5 tig plug 50 - gas quick conn.

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

393




TIG WELDING

trafimetdistribution.com

18 CLASSIC HC C € Eneoora7

/

@7‘/07?/'7707

CODE «—> Yy | TECHNICAL DATA
S16437-10 4m 12.5° lamelle F é
by 090kg | 198lb
S16837-10 8m 25’ lamelle TSK 50-M12x1 v PEAK 113
. Argon
OE— | 05:40mm ‘ 020" = 5/32”
X 100% 400A DC - 300A AC
%a@ 4 bar
a3 1.5 I/min

EQUIPE DE KIT
DE DEMARRAGE

TT0105 32mm 1/8”

394 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



18 CLASSIC HC

trafimet

distributio

'YOUR WELDING PARTNER g

| cooe | or | [ e — REF |y

TC0002 m(l 4 6,4 mm 1/4” 47 mm 10N50 | 10

TC0003 () 5 8 mm 5/16” 47 mm 10N49 | 10

TC0004 (N 6 9,8mm 3/8” 47 mm 10N48 | 10

TC0005 NI 7 11,2 mm 7116 47 mm 10N47 | 10

TC0006 |:l] 8 12,7 mm 1/2” 47 mm 10N46 | 10

TC0007 |:[] 10 15,7 mm 5/8" 47 mm 10N45 | 10

TC0008 I:l] 12 19 mm 3/4” 47 mm 10N44 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10

TC0092 1 D 6 9,5 mm 3/8” 76 mm 10N48L | 10

TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5mm .020” 47 mm 10N29 | 10
TE0001-10 1,0 mm .040” 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32" 47 mm 10N32 | 10
TE0001-32 3,2 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TD0001-16 1,0 mm .040” 50 mm 10N23 | 10
TD0001-20 —_— 2,0mm 1/16” 50 mm - 10
TD0001-24 2,4 mm 3/32" 50 mm 10N24 | 10
TD0001-32 32 mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD00O01-48 4,8 mm 3/16” 50 mm 30028 | 10

BW0056 lil= 58 mm - 10

BW0066 hife—— 117 mm 57Y02 | 10

BWO0067 g 22,5 mm 57Y04 | 10

EA0130 O 10

| | cope | [ | CODE caBLe |y
TQ0008 [U insulator 10 TH1310 | 4m/125 | 1
TG0913 'w‘: = tig torch head 18HC 1 TH1311 8m/25 | 1
3/8” 24 UNF LH
i 10 mm?2
TG0914 \&’7’/ tig torch head 18HC Flex 1
N \ CODE «—> | i, |
TTO0176 ’ gachette a lamelle 1 M12x1 (Gas)—
12 TH1102 4m/12.5 Quick conn.—
H
TPO005 | (N tig handle 1 12| TH1103 8m/25 "9
CX0080 5 tig plug 50 — gas quick conn.

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

395




T|G WELDI NG trafimetdistribution.com

20 CLASSIC C € Eeneoora-7

@7‘/07?/'7707

CODE «—> Yy | TECHNICAL DATA

A
il A
SV6437-10 4m 12.5 lamelle 8
/'1-,,,1 0,85 kg ‘ 1.87 b
SV6837-10 8m 25’ lamelle v PEAK 113
SU6B437-10 4m 12.5° lamelle flex | Tak 50-M12x1 . Argon
oe— 0,5+32mm ‘ .020” + 1/8”
SU6837-10 8m 25° lamelle flex X 100% 250A DG - 220 AC
%a@ 4 bar
a3 1.5 /min

EQUIPE DE KIT I‘H/

DE DEMARRAGE B
TT0102 2,4 mm 3/32” m’

396 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio
20 CLASSIC 'YOUR WELDING PARTNER g
| cooe | | ar | [ e — REF |y
TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10
TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10
TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10
TC0015 |:D 7 11,2 mm 7/16” 30 mm 13N11 | 10
TC0016 |:D 8 12,7 mm 1/2” 30 mm 13N12 | 10
TC0017 I:D 10 15,7 mm 5/8" 30 mm 13N13 | 10
TC0096 ] 4 6,5mm 1747 48 mm 796F71 | 10
TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10
TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10
TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10
TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10
TC0103 I:E]] 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 020" 21 mm 13N25 | 10
TE0003-10 1,0 mm 040" 21 mm 13N26 | 10
TE0003-16 @ 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0.5 mm 020" 25 mm 13N20 | 10
TD0003-10 1,0 mm 040" 25 mm 13N21 | 10
TDO0003-16 - 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0 mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2mm 1/8” 25 mm 13N24 | 10
BWO0063 W 147,5 mm 41V24 | 10
BW0064 == 53 mm 41v35 | 10
BW0065 14 17,5 mm 41v33 | 10
EA0129 O 10

N =y, —~
| | cope | | [ &y | | cooe caBle |y
TQO001 U] insulator 10 TH1310 4m/12.5 1
TG0020 _Q!Q*_"‘ tig torch head 1 TH1311 8m/25 1 1/4” 28 UNF
TG0220 gw tig torch head flex 1 ‘ ‘ CoDE ‘ M12x1
(power) ——
TT0176 ’ gachette a lamelle 1 M12x1 (Gas) —
12 TH1106 4m/12.5 Quick conn.—
TPo0O7 | (N tig handle 1 12| TH1107 8m/25 (0
CX0080 5 tig plug 50 - gas quick conn.

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 397



T|G WELDI NG trafimetdistribution.com

20 CLASSIC HC _ C € Eneoo74-7

@7‘/07?/'7707

CODE «—> Yy | TECHNICAL DATA

A
$66437-10 4m 12,5 lamelle A
IEL 0,85 kg ‘ 1.87 Ib
$66837-10 8m 25’ lamelle TSK 50-M12x1 v PEAK 113
. Argon
OE— | o05:32mm ‘ 020 = 1/8”
X 100% 320A DC - 250A AC
%a@ 4 bar
a3 1.5 /min

EQUIPE DE KIT
DE DEMARRAGE 2 el
TT0102 2,4 mm 3/32” n

398 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



20 CLASSIC HC

trafimet

distributio

'YOUR WELDING PARTNER g

| | CODE Gr ‘ (%) «—> REF gy

TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10

TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10

TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10

TC0015 |:D 7 11,2 mm 7/16” 30 mm 13N11 | 10

TC0016 I:[I 8 12,7 mm 1/2” 30 mm 13N12 | 10

TC0017 I:l] 10 15,7 mm 5/8" 30 mm 13N13 | 10

TC0096 ] 4 6,5mm 1747 48 mm 796F71 | 10

TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10

TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10

TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10

TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10

TC0103 I:E]] 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 020" 21 mm 13N25 | 10
TE0003-10 1,0 mm 040" 21 mm 13N26 | 10
TE0003-16 @ 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0.5 mm 020" 25 mm 13N20 | 10
TD0003-10 1,0 mm 040" 25 mm 13N21 | 10
TDO0003-16 - 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0 mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2mm 1/8” 25 mm 13N24 | 10

BW0063 |ImES———a 147,5 mm 41v24 | 10

BW0064 = 53 mm 41v35 | 10

BW0065 14 17,5 mm 41v33 | 10

EA0129 O 10

| | cooe [ 5 ~ | CODE caBle |y
TQOO001 [J insulator 10 TH1310 | 4m/125 | 1 o
TG0912 _Q!Q*_"‘ tig torch head 20HC 1 TH1311 gm/25 | 1 |
3/8” 24 UNF LH
. i 10 mm2
TG0911 "w tig torch head 20HC Flex 1 ‘ CODE ‘ M12x1 ‘
(power) ——
TT0176 ’ gachette a lamelle 1 M12x1 (Gas) —
12| TH1102 4m/125 Quick conn.—
TPo005 | (N tig handle 1 12| TH1103 8m/25 (H.0)
CX0080 5 tig plug 50 - gas quick conn.

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

399




TIG WELDING

26 CLASSIC

;/07?/'7707

CODE e —— fem- [ AR

SK6409-10 4m 12.5° lamelle
SK6809-10 8m 25’ lamelle

SL6409-10 4m 12.5° lamelle flex TSK 50-M12x1
SL6809-10 8m 25’ lamelle flex

EQUIPE DE KIT

DE DEMARRAGE

TTO0105 32mm 1/8”

\

trafimetdistribution.com

TECHNICAL DATA

vgy

[

0,55 kg ‘ 1.221b

V PEAK

113

Argon

0,5 + 4,0 mm ‘ .020” + 5/32”

X 35%

180A DC - 150A AC

400

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

26 CLASSIC 'YOUR WELDING PARTNER ‘
| cooe | or | e — REF |y
TC0002 m(l 4 6,4 mm 1/4” 47 mm 10N50 | 10
TC0003 () 5 8 mm 5/16” 47 mm 10N49 | 10
TC0004 (N 6 9,8 mm 3/8” 47 mm 10N48 | 10
TC0005 NI 7 11,2 mm 716" 47 mm 10N47 | 10
TC0006 [ D 8 12,7 mm 1/27 47 mm 10N46 | 10
TC0007 |:[] 10 15,7 mm 5/8” 47 mm 10N45 | 10
TC0008 I:l] 12 19 mm 3/4 47 mm 10N44 | 10
TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10
TC0092 1 D 6 9,5 mm 3/8” 76 mm 10N48L | 10
TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5 mm 020" 47 mm 10N29 | 10
TE0001-10 1,0 mm 040" 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TDO0001-05 0,5 mm 020" 50 mm 10N21 | 10
TD0001-10 1,0 mm 040" 50 mm 10N22 | 10
TD0001-16 1,0 mm 040 50 mm 10N23 | 10
TD0001-20 P 2,0 mm 1/16” 50 mm - 10
TDO0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TDO0001-32 3,2 mm 1/8” 50 mm 10N25 | 10
TD00O01-40 4,0mm 5/32” 50 mm 54N20 | 10
TDO0001-48 4,8 mm 3/16” 50 mm 30028 | 10
BW0056 = 58 mm - 10
BW0066 lf— 117 mm 57Y02 | 10
BW0067 g 22,5 mm 57Y04 | 10
EA0130 O 10
| | cope | [ | CODE caBLe |y -
TQO002 N insulator 10 TH1354 | 4m/125 | 1
TF0026 tig torch head 1 TH1355 8m/25 | 1 | é
5/8” 18 UNF
TF0027 K tig torch head Flex 1 | po— Mi2xd 25 mm?
TT0176 ’ gachette a lamelle 1
- 12| TH1003 4m/125
TPO005 | (N tig handle 1 12| TH1004 8m/25
CX0079 5 tig plug 50 — gas M12x1

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

401



T|G WELDI NG trafimetdistribution.com

28 CLASSIC C € Eeneoora-7

@7‘/07?/'7707

CODE «—> T | TECHNICAL DATA

TA2804S-163-HA3 4m 12.5' lamelle bt M

/i 0,55 kg ‘ 1.221b
TA2808S-163-HA3 8m 25 lamelle TSK 50-M12x1 v PEAK 113

. Argon
OE— | 05:40mm ‘ 020" + 5/32"
X 35% 220A DC - 180A AC

EQUIPE DE KIT
DE DEMARRAGE

TT0260 2,4 mm 3/32”

402 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet
distributio
28 CLASSIC 'YOUR WELDING PARTNER ‘

- CODE STANDARD

TC0170 I:D 7 mm 0.276” 40 mm 10
TC0171 G:I 9 mm 0.355” 40 mm 10
TCO172 G:I 12 mm 0.473” 40 mm 10
TE0055 @ilin 10
TD0055-16 1,6 mm 116" 43,5 mm 10
TD0055-20 = 2,0 mm 5/64” 43,5 mm 10
TD0055-24 2.4 mm 3/32” 43,5 mm 10

!
>
(2}
[
m
4
(7]
[2]
=S
Q
e}
m
T
g

TC0041 [ﬂ:l 4 6,4 mm 1/4” 25,5 mm 53N58 | 10
TC0042 [[D 5 8 mm 5/16” 25,5 mm 53N59 | 10
TC0043 [ﬂ:‘ 6 9,8 mm 3/8” 25,5 mm 53N60 | 10
TC0044 Iﬂ:l 7 11,2 mm 7/16” 25,5 mm 53N61 | 10
TC0045 [Dj 8 12,7 mm 1/27 25,5 mm 53N61S | 10
TE0056-16 1,6 mm 1/16” 27 mm 10
TE0056-20 W 2,0 mm 5/64” 27 mm 10
TE0056-24 2,4 mm 3/32” 27 mm 10
TD0055-16 1,6 mm 1/16” 43,5 mm 10
TD0055-20 = 2,0 mm 5/64” 43,5 mm 10
TD0055-24 2,4 mm 3/32” 43,5 mm 10
| cooe | | ar | %] e —— REF |

7 BW0680 [ 10
' BWo6sH = 10

7 EA2086

| ] L]

[T cooe |

CODE cABLE |y e

insulator 10 THO0440 4m/12.5 1 é

TQ0350

TQO0351

insulator gas lens 10 THO441 8m/25 1

M10x1

TF0028

tig torch head 1 ‘ ‘ CODE M12x1 25 mm?
12| THO0350 4m/12.5
TP1015 tig handle 1 12| THO0351 8m/25

CX0079 Tig Plug 50 Gas M12X1 1

N
b
-
TT0176 g— gachette a lamelle 1
PE——

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 403




TIG WELDING

trafimetdistribution.com

INTERLOCK

Trotimeaf

welding & cutting

C € ENe0974-7

CODE «—> | fem- | HE ] hem- [VPEAK] A OE— | X3%
H46409-10 | 4m | 125 |lamelle | TOP 9INTERLOCK | 113 Argon | 05+1,6mm | 110ADC - 95A AC
H46809-10 | 8m 25 | lamelle | TOP 17 INTERLOCK| 113 Argon | 0,5+24mm | 140A DC - 125A AC
S46409-10 | 4m | 125 | lamelle | CLASSIC oS8 |24 INTERLOCK| 113 Argon | 05+24mm | 110ADC - 95A AC

TSK 50-M12x1
$46809-10 | 8m 25 | lamelle | CLASSIC | * 25 INTERLOCK| 113 Argon | 05+32mm | 110ADC - 95A AC
+ 26 INTERLOCK| 113 Argon | 0,5+4,0mm | 160A DC - 140A AC
A s
cobE | | [ ] S
TF6092 y TPRO 9 1
TF6097 \‘. TPRO 9 Flex 1
TF6172 Qg2 TPRO 17 1
TF6247 \‘. TPRO 24 Flex 1
TF6257 \‘. TPRO 25 Flex 1
TF6260  —— TPRO 26 1
TF6265 \‘. TPRO 26 Flex 1
B I M20x1,5
‘I (1111
M: I M20x1,5
LY ~
CODE [ ] C
TF6200 s O torch head support M12X1 | 1
FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

404



trafimet

distributio
I NTERLOCK 'YOUR WELDING PARTNER ‘

INTERLOCK C € Eeneoora-7

@7‘/07?/'7707

CODE <> | [-—_

fum- \/PeaK [ @OE— | X100% [ZEB[S1]

H86437-10 4m 12.5" | lamelle TOP 18 INTERLOCK 113  |Argon|0,5 + 4,0 mm| 320A DC - 270A AC | 4 bar |1,5 I/m
H86837-10 8m 25 lamelle TOP 20 INTERLOCK 113  |Argon|0,5 + 3,2 mm| 250A DC - 220A AC | 4 bar 1,5 I/m
S96437-10 4m 12.5" | lamelle | CLASSIC 24W INTERLOCK| 113  |Argon|0,5 + 2,4 mm| 180A DC - 120A AC | 4 bar |1,51/m

P

TSK 50-M12xT1
$96837-10 | 8m 25 | lamelle | CLASSIC | * 25W INTERLOCK| 113 | Argon 0,5 + 3,2 mm| 250A DG - 220A AC | 4 bar | 1,5 /m
A s
cobE | | [ ] S
TG6180 See TPRO 18 1
TG6202 | TN TPRO 20 1
TG6207 \‘. TPRO 20 Flex 1
TG6247 \‘. TPRO 24W Flex 1
TG6257 \. TPRO 25W Flex 1

I M20x1,5

%‘ I M20x1,5

coDE | [ L1

.
o

TG6300 LB " .. | torch head support M10X1 | 1

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 405



T|G WELDI NG trafimetdistribution.com

C € Ene0974-7

@7‘/07?/'7707

CODE «—> Yy | TECHNICAL DATA

) .y
SA6439-10 4m 12.5 lamelle a

/i 0,45 kg ‘ 0.99 Ib
SA6839-10 8m 25 lamelle TSK 50-M12x1 v PEAK 113

. Argon
OE— | o05:24mm ‘ .020” = 3/32”
X 35% 110A DC - 95A AC

EQUIPE DE KIT
DE DEMARRAGE

TT0102 2,4 mm 3/32”

406 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

'YOUR WELDING PARTNER g

| cooe | | ar | [ e — REF |y

TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10

TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10

TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10

TC0015 |:D 7 11,2 mm 7/16” 30 mm 13N11 | 10

TC0016 I:[I 8 12,7 mm 1/2” 30 mm 13N12 | 10

TC0017 I:l] 10 15,7 mm 5/8" 30 mm 13N13 | 10

TC0096 ] 4 6,5mm 1747 48 mm 796F71 | 10

TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10

TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10

TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10

TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10

TC0103 I:E]] 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 020" 21 mm 13N25 | 10
TE0003-10 1,0 mm 040" 21 mm 13N26 | 10
TE0003-16 @ 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0.5 mm 020" 25 mm 13N20 | 10
TD0003-10 1,0 mm 040" 25 mm 13N21 | 10
TDO0003-16 - 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0 mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2mm 1/8” 25 mm 13N24 | 10

BW0063 |ImES———a 147,5 mm 41v24 | 10

BW0064 = 53 mm 41v35 | 10

BW0065 14 17,5 mm 41v33 | 10

EA0129 O 10

| | cope | | [ 5 &y | | cooe caBle |y
TQOO001 [J insulator 10 TH1200 | 4m/125 | 1
TF0009 ._0—"”‘ tig torch head 1 TH1291 8m/25 | 1 é
3/8” 24 UNF
TFO010 .\M tig torch head Flex 1 ‘ ‘ CODE 16 mm?
TT0176 - gachette a lamelle 1
- 12| TH1096 4m/12.5° M12x1—
TP0004 _ tig handle 1 12 TH1097 8m/25
CX0021 I Tig plug 50 50

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 407



T|G WELDI NG trafimetdistribution.com

C € Ene0974-7

@7‘/07?/'7707

CODE «—> Yy | TECHNICAL DATA

, .y
SF6439-10 4m 12.5 lamelle a

/i 0,55 kg ‘ 1.221b
SF6839-10 8m 25 lamelle TSK 50-M12x1 v PEAK 113

. Argon
OE— | o05:24mm ‘ .020” = 3/32”
X 35% 140A DC - 125A AC

EQUIPE DE KIT
DE DEMARRAGE

TT0105 32mm 1/8”

408 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2015 Trafimet Spa



trafimet

distributio

'YOUR WELDING PARTNER g

| cooe | | ar | 1) «—> REF |yl
TC0002 Eﬂ:[l 4 6,4 mm 1/4 47 mm 10N50 | 10
TC0003 Dj:[] 5 8 mm 5/16” 47 mm 10N49 | 10
TC0004 m:[l 6 9,8 mm 3/8” 47 mm 10N48 | 10
TCO0005 m:l] 7 11,2 mm 7/16” 47 mm 10N47 | 10

TC0006 8 12,7 mm 1/2” 47 mm 10N46 | 10

TCO0008 12 19 mm 3/4” 47 mm 10N44 | 10

TC0007 I:D 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10
TC0092 C— D |s 9,5 mm 3/8” 76 mm 10N48L | 10
TC0093 C 1D 7 11 mm 76 mm 10N47L | 10

TE0001-05 0,5 mm .020” 47 mm 10N29 | 10
TE0001-10 1,0 mm .040” 47 mm 10N30 | 10
TE0001-16 1,6 mm 116" 47 mm 10N31 | 10
TE0001-20 2,0mm 5/64" 47 mm - 10
TE0001-24 2,4 mm 3/32" 47 mm 10N32 | 10
TE0001-32 3,2 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32" 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16" 47 mm 30126 | 10
TD0001-05 0,5mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TD0001-16 1,0 mm .040” 50 mm 10N23 | 10
TD0001-20 J—— 2,0mm 116" 50 mm - 10
TD0001-24 2,4 mm 3/32" 50 mm 10N24 | 10
TD0001-32 3,2 mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32" 50 mm 54N20 | 10
TD0001-48 4,8 mm 3/16" 50 mm 30028 | 10

BW0056 L= 58 mm - 10
BW0066 lif—=x 117 mm 57Y02 | 10
BWO0067 | g 22,5 mm 57v04 | 10
EA0130 O 10
| | cope | | [ &y | | cooe caBLe |y
TQO002 D insulator 10 TH12900 | 4m/125 | 1
TFOO17 r&"" tig torch head 1 TH1291 8m/25 | 1 é
3/8” 24 UNF

TF0022 M tig torch head Flex 1 16 mm2

ho i 9 || cooe e ——
TT0176 ’ gachette a lamelle 1

12| TH1096 4m/125 Mi2x1 —

TPO0D4 | (N tig handle 1 12| TH1097 8m/25
©X0021 I Tig plug 50 50

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2015 Trafimet Spa 409



T|G WELDI NG trafimetdistribution.com

C € Ene0974-7

@7‘/07?/'7707

CODE «—> Yy | TECHNICAL DATA

) .y
SK6439-10 4m 12.5 lamelle a

/i 0,55 kg ‘ 1.221b
SK6839-10 8m 25 lamelle TSK 50-M12x1 v PEAK 113

. Argon
OE— | 05:40mm ‘ .020” + 5/32”
X 35% 180A DC - 150A AC

EQUIPE DE KIT
DE DEMARRAGE

TT0105 32mm 1/8”

410 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2015 Trafimet Spa



trafimet

distributio

'YOUR WELDING PARTNER g

| cooe | | ar | [ e — REF |
TC0002 m(l 4 6,4 mm 147 47 mm 10N50 | 10
TC0003 oD 5 8 mm 5/16” 47 mm 10N49 | 10
TC0004 (N 6 9,8 mm 3/8” 47 mm 10N48 | 10
TC0005 NI 7 11,2 mm 7116” 47 mm 10N47 | 10

TC0006 8 12,7 mm 1/2” 47 mm 10N46 | 10

TCO0008 12 19 mm 3/4” 47 mm 10N44 | 10

TC0007 I:D 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10
TC0092 C— D |s 9,5 mm 3/8” 76 mm 10N48L | 10
TC0093 C 1D 7 11 mm 76 mm 10N47L | 10

TE0001-05 0,5mm .020” 47 mm 10N29 | 10
TE0001-10 1,0 mm .040” 47 mm 10N30 | 10
TE0001-16 1,6 mm 116 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32 47 mm 10N32 | 10
TE0001-32 3,2 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32 47 mm 406488 | 10
TE0001-48 4,8mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TD0001-16 1,0 mm .040” 50 mm 10N23 | 10
TD0001-20 P 2,0 mm 1/16” 50 mm - 10
TD0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TD0001-32 3,2 mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32" 50 mm 54N20 | 10
TD0001-48 4,8mm 3/16” 50 mm 30028 | 10

BW0056 L= 58 mm - 10
BW0066 lif—=x 117 mm 57Y02 | 10
BW0067 g 22,5mm 57Y04 | 10
EA0130 O 10
| | cope | | [ &y | | cooe caBLe |y
TQO002 D insulator 10 TH1352 | 4m/125 | 1
TF0026 ._OQ- tig torch head 1 TH1353 8m/25 | 1 é
5/8” 18 UNF

TF0027 @ tig torch head Flex 1 25 mmz?

" 9 || cooe «—>
TT0176 ’ gachette a lamelle 1

12| TH1124 4m/12.5 M12x1— /

TPO005 | (N tig handle 1 12| TH1125 8m/25
©X0021 I Tig Plug TSK 35 mm2 50

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2015 Trafimet Spa 411



T|G WELDI NG trafimetdistribution.com

C € ENe0974-7

@7‘/07?/'7707

CODE <> | TECHNICAL DATA
SC4413-00 4m 12.5’ i
/i 0,45 kg ‘ 0.99 Ib
SC4813-00 | 8m 25" | TsKM25-2m V PEAK 113
. Argon
OE— | o05:24mm ‘ 020" = 3/32”
X 35% 110A DC - 95A AC

CONSUMABLES KIT O
TT0101 1,6 mm 1/16”

TT0102 2,4 mm 3/32” F/

CONSUMABLES
NOT INCLUDED

412 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

'YOUR WELDING PARTNER g

| cooe | | ar | [ e —— REF |y

TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10

TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10

TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10

TC0015 |:D 7 11,2 mm 7/16” 30 mm 13N11 | 10

TC0016 |:[| 8 12,7 mm 1/2” 30 mm 13N12 | 10

TC0017 |:l] 10 15,7 mm 5/8" 30 mm 13N13 | 10

TC0096 ] 4 6,5 mm 1/4” 48 mm 796F71 | 10

TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10

TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10

TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10

TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10

TC0103 I:@ 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 020" 21 mm 13N25 | 10
TE0003-10 1,0 mm 040" 21 mm 13N26 | 10
TE0003-16 @ 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0.5 mm 020" 25 mm 13N20 | 10
TD0003-10 1,0 mm 040" 25 mm 13N21 | 10
TDO0003-16 - 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0 mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2mm 1/8” 25 mm 13N24 | 10

BW0063 |ImES———a 147,5 mm 41v24 | 10

BW0064 = 53 mm 41v35 | 10

BW0065 14 17,5 mm 41v33 | 10

EA0129 O 10

| cope | ’ [ &y [ | cooe CABLE
TQO001 [U insulator 10 12 THO005 4m/12.5 )
BW0061 v valve 10 | 12| THO006 8m/25 | é
. 3/8” 24 UNF
TFO109 i tig torch head valve 1 16 "|‘m2
TF0110 .‘w Valve tig torch head Flex 1
M12x1—
TPOOO4 | (GG tig handle 1
CX1125 ‘ tig plug 25 - gas 2 m 1

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 413



T|G WELDI NG trafimetdistribution.com

TIG 17V C € Ene0974-7

@7‘/07?/'7707

CODE «—> C 3=A | TECHNICAL DATA
40
SH4413-00 4m 12.5° vaY
/'1-,,, 0,55 kg ‘ 1.221b
SH4813-00 | 8m 25 | TSKM25-2m V PEAK 113
. Argon
SH4431-00 4m 12.5’ oe— 0,5:2,4 mm ‘ .020” + 3/32”
X 35% 140A DC - 125A AC
SH4831-00 8m 25’ TSK 50-2m

CONSUMABLES KIT

TT0103 1,6 mm 1/16”
TT0104 2,4 mm 3/32”

TT0105 32mm 1/8”

CONSUMABLES
NOT INCLUDED

414 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio
TIG 1 7V 'YOUR WELDING PARTNER ‘
| cooe | | ar | [} e — REF |yl
TC0002 m(l 4 6,4 mm 14 47 mm 10N50 | 10
TC0003 () 5 8 mm 5/16” 47 mm 10N49 | 10
TC0004 (N 6 9,8 mm 3/8” 47 mm 10N48 | 10
TC0005 NI 7 11,2 mm 716" 47 mm 10N47 | 10

TC0006 8 12,7 mm 1/2” 47 mm 10N46 | 10

TCO0008 12 19 mm 3/4” 47 mm 10N44 | 10

TC0007 I:D 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10
TC0092 C— D |s 9,5 mm 3/8” 76 mm 10N48L | 10
TC0093 C 1D 7 11 mm 76 mm 10N47L | 10

TE0001-05 0,5 mm .020” 47 mm 10N29 | 10
TE0001-10 1,0 mm .040” 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5 mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TD0001-16 1,0 mm .040” 50 mm 10N23 | 10
TD0001-20 ,_—,_| 2,0 mm 1/16” 50 mm - 10
TD0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TD0001-32 3,2 mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD0001-48 4,8 mm 3/16” 50 mm 30028 | 10

BW0056 L= 58 mm - 10
BW0066 lif—=x 117 mm 57Y02 | 10
BW0067 1ug 22,5 mm 57Y04 | 10
EA0130 O 10
|| cope | \ [ &y | | cooe CABLE
TQ0002 D insulator 10 12 THO005 4m/12.5 -
BW0061 Q valve 10 12| THO006 8m/ 25’ | é
v 3/8” 24 UNF
TFO117 P tig torch head valve 1 / mm2
-
*
TFO118 O valve tig torch head Flex 1 /
M12x1—
TPo004 | (N tig handle 1
CX0081 5 Tig Plug 50 Gas Tube 2m
CX1125 5 tig plug 25 -gas2m 1

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 415



TIG WELDING

trafimetdistribution.com

TIG 26V

CODE <>

SM4431-00 4m 12.5
SM4831-00 8m 25’ TSK 50-2m
CONSUMABLES KIT
TT0103 1,6 mm 1/16”
TT0104 2,4 mm 3/32"
TT0105 32mm 1/8”
A\

C € Ene0974-7

| TECHNICAL DATA

.gv
/i 0,80 kg ‘ 1.76 Ib
V PEAK 113
. Argon
OE— | o05:40mm ‘ 0207:5/32"
X 35% 180A DC - 150A AC

o> -

"

n®

B
B[ g
e
m

I
CONSUMABLES
NOT INCLUDED

416

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio
TIG 26V 'YOUR WELDING PARTNER ‘
| cooe | | ar | [} e — REF |yl
TC0002 m(l 4 6,4 mm 14 47 mm 10N50 | 10
TC0003 () 5 8 mm 5/16” 47 mm 10N49 | 10
TC0004 (N 6 9,8 mm 3/8” 47 mm 10N48 | 10
TC0005 NI 7 11,2 mm 716" 47 mm 10N47 | 10

TC0006 8 12,7 mm 1/2” 47 mm 10N46 | 10

TCO0008 12 19 mm 3/4” 47 mm 10N44 | 10

TC0007 I:D 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10
TC0092 C— D |s 9,5 mm 3/8” 76 mm 10N48L | 10
TC0093 C 1D 7 11 mm 76 mm 10N47L | 10

TE0001-05 0,5 mm .020” 47 mm 10N29 | 10
TE0001-10 1,0 mm .040” 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5 mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TD0001-16 1,0 mm .040” 50 mm 10N23 | 10
TD0001-20 P 2,0 mm 1/16” 50 mm - 10
TD0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TD0001-32 3,2 mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD0001-48 4,8 mm 3/16” 50 mm 30028 | 10

BW0056 = 58 mm - 10

BWO0066 I 117 mm 57Y02 | 10

BW0067 1ug 22,5 mm 57Y04 | 10

EA0130 O 10

| cope | ] [ &y | | cooe CABLE
TQ0002 D insulator 10 12| THOO007 4m/125 /
BW0062 Q valve 10 12| TH0008 8m/25 \ é
. 5/8” 18 UNF
TF0126 D= tig torch head valve 1 25 mm?

- _ /

TF0127 ~M valve tig torch head Flex 1
TPooos | (N tig handle 1

\

M12x1—

CX0081 Tig Plug 50 Gas Tube 2m

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 417



T|G WELDI NG trafimetdistribution.com

TIG 9 US C € eneoor4-7

Trotimeaf

welding & cutting

CODE e — \ [ 7 - | TECHNICAL DATA
SA4427-00 4m 12.5" 2 cables 9-12-2 o
SA4827-00 8m 25 2 cables 9-25-2 /,1_m 0,45 kg ‘ 099 b
SB4427-00 4m 12.5° 2 cables flex 9F-12-2 \ =t
SB4827-00 8m 25° 2 cables flex 9F-25-2 V PeAk 113
SC4427-00 4m 12.5° 2 cables valve 9V-12-2 . Argon
SC4827-00 8m 25’ 2 cables valve gv-25-2  |%/8-18 UNF RH (7] ‘

E— 0,5+1,6 mm .020” + 3/32”
SE4427-00 4m 12.5’ 2 cables flex - valve 9FV-12-2 e
X 35% 110A DC - 95A AC

SE4827-00 8m 25’ 2 cables flex - valve 9FV-25-2
SA4448-00 4m 12.5° 1 cable 9-12-R
SA4848-00 8m 25° 1 cable 9-25-R
SB4448-00 4m 12.5° 1 cable flex 9F-12-R
SB4848-00 8m 25° 1 cable flex 9F-25-R
SC4448-00 4m 12.5" 1 cable valve 9V-12-R &
SC4848-00 8m 25’ 1 cable valve ov-25-R | 3/8-24 UNFRH
SE4448-00 4m 12.5° 1 cable flex - valve
SE4848-00 8m 25’ 1 cable flex - valve

CONSUMABLES KIT
TT0101 1,6 mm  1/16”

TT0102 2,4 mm 3/32”

CONSUMABLES 12}
NOT INCLUDED

2,

418 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio
TIG 9 US 'YOUR WELDING PARTNER ‘
| cooe | | ar | [ e —— REF |y
TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10
TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10
TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10
TC0015 I:D 7 11,2 mm 7/16” 30 mm 13N11 | 10
TC0016 I:[I 8 12,7 mm 1/2” 30 mm 13N12 | 10
TC0017 I:l] 10 15,7 mm 5/8” 30 mm 13N13 | 10
TC0096 ] 4 6,5 mm 1/4” 48 mm 796F71 | 10
TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10
TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10
TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10
TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10
TC0103 I:@ 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 020" 21 mm 13N25 | 10
TE0003-10 1,0 mm 040" 21 mm 13N26 | 10
TE0003-16 i 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0,5mm 020" 25 mm 13N20 | 10
TD0003-10 1,0 mm 040" 25 mm 13N21 | 10
TDO0003-16 . 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2 mm 1/8” 25 mm 13N24 | 10
BWO0063 W 147,5 mm 41V24 | 10
BW0064 == 53 mm 41v35 | 10
BW0065 14 17,5 mm 41v33 | 10
EA0129 O 10
L 3 =y,
| | come | | h & | | com cante | &y
TQO001 [U insulator 10 THO050 4m/12.5 1
AWG 4
BWO061 Q valve 10 THOO051 8m/25 | 1 16 mm?
3/8” 24 UNF
TF0009 M tig torch head 1 THOO66 | 4m/12.5 | 1
I3
TF0109 ._OO"“ tig torch head valve 1 THO067 8m/25 1 | 5/8”"18 ggF ;TL;\IF =5 #CABLES
\
TF0010 ..M tig torch head Flex 1 1 CABLE
o
TFO110 O e~ Valve tig torch head Flex 1

TPo004 | (N tig handle 1

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 419



T|G WELDI NG trafimetdistribution.com

TIG 17 US C € Ene0974-7

;/ fimef

CODE e — \ [ 7 - | TECHNICAL DATA

SF4427-00 4m 12.5° 2 cables 17-12-2 R
SF4827-00 8m 25 2 cables 17-25-2 /,1_m 0,55 kg ‘ 12210
SG4427-00 4m 12.5° 2 cables flex 17F-12-2 \ =t
SG4827-00 8m 25° 2 cables flex 17F-25-2 V PeAK 113
SH4427-00 4m 12.5° 2 cables valve 17V-12-2 . Argon

B s o5 5/8-18 UNF RH
SH4827-00 8m 25 2 cables valve 17V-25-2 oe— 0.5:2.4 mm ‘ 0207-3/32”
SJ4427-00 4m 12.5’ 2 cables flex - valve 17FV-12-2 o

X 35% 140A DC - 125A AC

SJ4827-00 8m 25’ 2 cables flex - valve 17FV-25-2
SF4448-00 4m 12.5° 1 cable 17-12-R
SF4848-00 8m 25’ 1 cable 17-25-R
SG4448-00 4m 12.5° 1 cable flex 17F-12-R
SG4848-00 8m 25° 1 cable flex 17F-25-R
SH4448-00 4m 12.5’ 1 cable valve 17V-12-R &
SH4848-00 8m 25’ 1 cable valve 17v-25-R  |3/8-24 UNF RH
SJ4448-00 4m 12.5° 1 cable flex - valve 17FV-12-R
$J4848-00 8m 25’ 1 cable flex - valve 17FV-25-R

CONSUMABLES KIT

TT0103 1,6 mm 1/16”
TT0104 2,4 mm 3/32”

TT0105 32mm 1/8”

CONSUMABLES m
NOT INCLUDED -

420 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio
TIG 1 7 US 'YOUR WELDING PARTNER ‘
| cooe | | ar | [} e — REF |yl
TC0002 m(l 4 6,4 mm 14 47 mm 10N50 | 10
TC0003 () 5 8 mm 5/16” 47 mm 10N49 | 10
TC0004 (N 6 9,8 mm 3/8” 47 mm 10N48 | 10
TC0005 NI 7 11,2 mm 716" 47 mm 10N47 | 10

TC0006 8 12,7 mm 1/2” 47 mm 10N46 | 10

TCO0008 12 19 mm 3/4” 47 mm 10N44 | 10

TC0007 I:D 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10
TC0092 C— D |s 9,5 mm 3/8” 76 mm 10N48L | 10
TC0093 C 1D 7 11 mm 76 mm 10N47L | 10

TE0001-05 0,5 mm .020” 47 mm 10N29 | 10
TE0001-10 1,0 mm .040” 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5 mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TD0001-16 1,0 mm .040” 50 mm 10N23 | 10
TD0001-20 — 2,0 mm 1/16” 50 mm - 10
TD0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TD0001-32 3,2 mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD0001-48 4,8 mm 3/16” 50 mm 30028 | 10

BW0056 L= 58 mm - 10
BW0066 [[rie=——— 117 mm 57Y02 | 10
BW0067 118 22,5 mm 57Y04 | 10
EA0130 O 10
| cope | ] [ 7 &y | | cooe caBLE |y

TQO0002 D insulator 10 THO050 4m/12.5 1

AWG 4

16 mm?2
BW0061 v valve 10 THO0051 8m/25 1

3/8” 24 UNF
TFOO17 F tig torch head 1 THO066 | 4m/125 | 1
« 5/8” 18 UNF RH — 2 CABLES
TFO117 '0!-“ tig torch head valve 1 THO067 8m/25 1 3/8” 24 UNE RH
TF0022 .‘M tig torch head Flex 1 1 CABLE
©

TFO118 *M" valve tig torch head Flex 1
TPoO04 | (N tig handle 1

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 421



T|G WELDI NG trafimetdistribution.com

TIG 18 US

;/07?/'7707

CODE e — \ [ 7 - | TECHNICAL DATA
) H \-/\
SR4427-00 4m 12.5 vinyl 18-12 a
SR4448-00 4m 12.5° rubber 18-12-R - 0,90 kg ‘ 1981
SR4827-00 8m 25’ vinyl 18-25 ‘ _Tml_ ! .
SR4848-00 8m 25° rubber 18-25-R V PeAK 113
SS4427-00 4m 12.5’ vinyl flex 18F-12 . Argon
, 7/8-14 UNF LH
$S4448-00 4m 12.5 rubber flex 18F-12-R oe— 0.5:4.0 mm ‘ 02075/32”
SS4827-00 8m 25’ vinyl flex 18F-25 X 100% 320A DG - 270A AC
A B}
SS4848-00 8m 25’ rubber flex 18F-25-R
%a@ 4 bar
a3 1.5 /min

TT0104 2,4 mm 3/32”

m
TT0105 32mm 1/8” m
m—

CONSUMABLES KIT
TT0103 1,6 mm 1/16” 1 ’

CONSUMABLES
NOT INCLUDED

422 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

'YOUR WELDING PARTNER g

| cooe | | ar | [} e — REF |yl
TCO0002 m(l 4 6,4 mm 114" 47 mm 10N50 | 10
TG0003 () 5 8 mm 5/16” 47 mm 10N49 | 10
TC0004 (N 6 9,8 mm 38" 47 mm 10N48 | 10
TC0005 NI 7 11,2 mm 7167 47 mm 10N47 | 10

TC0006 8 12,7 mm 1/2” 47 mm 10N46 | 10

TCO0008 12 19 mm 3/4” 47 mm 10N44 | 10

TC0007 I:D 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10
TC0092 C— D |s 9,5 mm 3/8” 76 mm 10N48L | 10
TC0093 C 1D 7 11 mm 76 mm 10N47L | 10

TE0001-05 0,5 mm .020” 47 mm 10N29 | 10
TE0001-10 1,0 mm .040” 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5 mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TD0001-16 1,0 mm .040” 50 mm 10N23 | 10
TD0001-20 =0 2,0 mm 1/16” 50 mm - 10
TD0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TD0001-32 3,2mm 1/8” 50 mm 10N25 | 10
TDO0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD0001-48 4,8 mm 3/16” 50 mm 30028 | 10
BW0056 L= 58 mm - 10
BW0066 lif—=x 117 mm 57Y02 | 10
BW0067 L 22,5 mm 57Y04 | 10
EA0130 O 10
| | cope | B SNy | | cooe CABLE ]
TQO002 N insulator | 10 TH0070 4m/12.5 1
power cable
w;—f_— ) 8m/25
TG0018 S tig torch head | 1 THOO71 power cable 1 3/8” 24 UNF LH
TGO118 “v tig torch head 1 THO038 4m/12.5 ]
Flex rubber power cable
, 5/8” 18 UNF LH —
TPOOO5 | (MENEENNN |  i; handle | THO0041 8m/25 1
rubber power cable
THO125 - 4m/125 4 |7/8” 14 UNFLH —
vinyl power cable
8m/25 ‘/
Ul vinyl power cable T |5/8" 18 UNFRH —
THO074 4m/12.5 1
gas cable
THO075 8m/25 1
FOR ALL CONSUMABLES SEE PAGE 471 gas cable

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 423



T|G WELDI NG trafimetdistribution.com

TIG 20 US C € eneoora-7

@7‘/07?/'7707

CODE e — \ [ 7 - | TECHNICAL DATA
SU4427-00 4m 12.5 vinyl flex 20F-12 a
SU4448-00 4m 12,5 ruPber flex 20F-12-R /_1_m 0,65 kg ‘ 1871
SU4827-00 8m 25° vinyl flex 20F-25 ‘ Tml
SU4848-00 8m 25° rubber flex 20F-25-R V peak 3
SV4427-00 4m 12.5° vinyl 20-12 . Argon
, 7/8-14 UNF LH
SV4448-00 4m 12,5 rubber 20-12-R oe— 0,5:3.2 mm ‘ 0207:1/8”
SV4827-00 8m 25’ vinyl 20-25 X 100% P50A DG - 220A AC
A .
SV4848-00 8m 25’ rubber 20-25-R
%a@ 4 bar
23 1.5 /min

-

CONSUMABLES KIT
TT0101 1,6 mm  1/16”
TT0102 2,4 mm 3/32"

T

CONSUMABLES
NOT INCLUDED

424 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio
TIG 20 US 'YOUR WELDING PARTNER g
| cooe | | ar | [ e —— REF |y
TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10
TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10
TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10
TC0015 I:D 7 11,2 mm 7/16” 30 mm 13N11 | 10
TC0016 I:[I 8 12,7 mm 1/2” 30 mm 13N12 | 10
TC0017 I:l] 10 15,7 mm 5/8" 30 mm 13N13 | 10
TC0096 ] 4 6,5 mm 1/4” 48 mm 796F71 | 10
TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10
TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10
TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10
TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10
TC0103 I:@ 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 020" 21 mm 13N25 | 10
TE0003-10 1,0 mm 040" 21 mm 13N26 | 10
TE0003-16 @ 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0.5 mm 020" 25 mm 13N20 | 10
TD0003-10 1,0 mm 040" 25 mm 13N21 | 10
TDO0003-16 - 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0 mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2mm 1/8” 25 mm 13N24 | 10
BWO0063 W 147,5 mm 41V24 | 10
BW0064 == 53 mm 41v35 | 10
BW0065 14 17,5 mm 41v33 | 10
EA0129 O 10

| | cope | ’ [ T &y | | cooe CABLE ]
TQO001 U] insulator 10 THO072 4m/125 1
power cable
— i 8m/25
TG0020 & tig torch head | 1 THO073 power cable 1 1/4” 28 UNF
TG0220 ‘.W tig torch head | THO068 _4m/125 1
flex vinyl power cable
s 5/8” 18 UNF LH —
TPO0O7 | (NS | g handle | 1 TH0069 _ 8m/25 1
vinyl power cable
THO127 4m/12.5 1 7/8” 14 UNF LH —
rubber power cable
8m/25 ‘/
s rubber power cable T |5/8" 18 UNF RH —
THO074 4m/12.5 1
gas cable
TH0075 Ba’;‘ C/ a2t)5le 1
FOR ALL CONSUMABLES SEE PAGE 471 9

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 425



T|G WELDI NG trafimetdistribution.com

TIG 26 US C € eneoora-7

;//07?/'7 7

CODE «—> ‘ [ ' REF C =A | TECHNICAL DATA
SK4427-35 4m 12.5’ 2 cables 26-12-2 ";‘.
SK4827-35 8m 25’ 2 cables 26-25-2
SL4427-35 4m 12.5’ 2 cables flex 26F-12-2 /i 0.80kg ‘ 17610
SL4827-35 8m 25 2 cables flex 29F-25-2 \ V peAK 3
SM4427-35 4m 12.5° 2 cables valve 26V-12-2 . Argon
SM4827-35 8m 25’ 2 cables valve 26V-25-2  |5/5.18 UNF RH oE— 0.5:4,0 mm ‘ 0207-5/32"
SM4848-35 8m 25’ 1 cable valve 26V-25-R X 35% 180A DC - 125A AC
S04427-35 4m 12.5° 2 cables flex - valve 26FV-12-2
S04827-35 8m 25’ 2 cables flex - valve 26FV-25-2
SK4448-35 4m 12.5’ 1 cable 26-12-R
SK4848-35 8m 25’ 1 cable 26-25-R
SL4448-35 4m 12.5’ 1 cable flex 26F-12-R
SL4848-35 8m 25’ 1 cable flex 26F-25-R b
SM4448-35 4m 12.5° 1 cable valve 26V-12-R 7/8-14 UNF RH
S04448-35 4m 12.5’ 1 cable flex - valve 26FV-12-R
S04848-35 8m 25’ 1 cable flex - valve 26FV-25-R

CONSUMABLES KIT
TT0103 1,6 mm 1/16” B
TT0104 2,4 mm 3/32"

TT0105 32mm 1/8”

CONSUMABLES
NOT INCLUDED

426 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio
TIG 26 US 'YOUR WELDING PARTNER ‘
| cooe | | ar | [} e — REF |yl
TC0002 m(l 4 6,4 mm 14 47 mm 10N50 | 10
TC0003 () 5 8 mm 5/16” 47 mm 10N49 | 10
TC0004 (N 6 9,8 mm 3/8” 47 mm 10N48 | 10
TC0005 NI 7 11,2 mm 716" 47 mm 10N47 | 10

TC0006 8 12,7 mm 1/2” 47 mm 10N46 | 10

TCO0008 12 19 mm 3/4” 47 mm 10N44 | 10

TC0007 I:D 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10
TC0092 C— D |s 9,5 mm 3/8” 76 mm 10N48L | 10
TC0093 C 1D 7 11 mm 76 mm 10N47L | 10

TE0001-05 0,5 mm .020” 47 mm 10N29 | 10
TE0001-10 1,0 mm .040” 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TD0001-05 0,5 mm .020” 50 mm 10N21 | 10
TD0001-10 1,0 mm .040” 50 mm 10N22 | 10
TD0001-16 1,0 mm .040” 50 mm 10N23 | 10
TD0001-20 P 2,0 mm 1/16” 50 mm - 10
TD0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TD0001-32 3,2 mm 1/8” 50 mm 10N25 | 10
TD0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TD0001-48 4,8 mm 3/16” 50 mm 30028 | 10

BW0056 LE==] 58 mm - 10
BW0066 [ 117 mm 57Y02 | 10
BWO0067 L= 22,5 mm 5704 | 10
EA0130 O 10
| cope | ] [ 7 &y | | cooe caBLE |y

TQ0002 D insulator 10 TH1028 4m/125 | 1

AWG 2

35 mm2
BW0062 v valve 10 TH1029 8m/25 1

5/8” 18 UNF
TF0026 ._05‘ tig torch head 1 TH0040 8m/25 1
< 5/8” 18 UNF RH — 2 CABLES
TFO126 [ tig torch head valve 1 THO121 4m/125 | 1 2/8" 14 UNF RH
TF0027 A tig torch head Flex 1 1 GABLE
.

TF0127 ‘M valve tig torch head Flex 1
TPOOOS | (N tig handle 1

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 427



T|G WELDI NG trafimetdistribution.com

AUTOTIG 9

@'//077/'7707 , c € EN60974-7

CODE «—> C 3=A | TECHNICAL DATA
40
SD4401-00 4m 12.5° M
/'1-,,, 0,45 kg ‘ 0.99 Ib
SD4801-00 8m 25° MA2x1 V PEAK 113
. Argon
oe— 0,5+2,4 mm ‘ .020” + 3/32”
X 35% 110A DC - 95A AC

CONSUMABLES KIT s =

TT0101 1,6 mm 1/16”
TT0102 2,4 mm 3/32” / n

CONSUMABLES
NOT INCLUDED

428 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio
AUTOTIG 9 'YOUR WELDING PARTNER g
| cooe | | ar | [ e —— REF |y
TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10
TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10
TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10
TC0015 |:D 7 11,2 mm 7116” 30 mm 13N11 | 10
TC0016 |:[| 8 12,7 mm 1/2” 30 mm 13N12 | 10
TC0017 |:D 10 15,7 mm 5/8” 30 mm 13N13 | 10
TC0096 ] 4 6,5 mm 1/4” 48 mm 796F71 | 10
TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10
TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10
TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10
TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10
TC0103 I:E]] 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 0207 21 mm 13N25 | 10
TE0003-10 1,0 mm 0407 21 mm 13N26 | 10
TE0003-16 i 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0,5 mm 020" 25 mm 13N20 | 10
TD0003-10 1,0 mm 0407 25 mm 13N21 | 10
TD0003-16 . 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0 mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2mm 1/8” 25 mm 13N24 | 10
| | cope | ‘ [ &y [ | cooe CABLE
TQO001 m insulator 10 12| THO005 4m/12.5 <
TF1000 P E—p—— tig torch head 1 12| THO006 8m/25 é
3/8” 24 UNF
TPO004 | (N tig handle 1 16 ”|"“2
M12x1—

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 429



TIG WELDING

trafimetdistribution.com

AUTOTIG 18

@7‘/07?/'7707

CODE <>

4

ST4401-00 4m 12.5
ST4801-00 8m 25’ M12x1
CONSUMABLES KIT
TT0103 1,6 mm 1/16”
TT0104 2,4 mm 3/32"
TT0105 32mm 1/8”

A\

CONSUMABLES
NOT INCLUDED

C € Ene0974-7

TECHNICAL DATA

a
/EL 0.90 Kg ‘ 1.98 Ib
V PEAK 113
. Argon
OE— | o05:40mm ‘ 0207:5/32"
X 100% 320A DC - 270A AC
%a@ 4 bar
23 1.5 I/min

430

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



AUTOTIG 18

trafimet

distributio

'YOUR WELDING PARTNER g

| | CODE ‘ Gr ‘ «—> REF gy

TC0002 m(l 4 6,4 mm 1/4” 47 mm 10N50 | 10

TG0003 () 5 8 mm 5/16” 47 mm 10N49 | 10

TC0004 (N 6 9,8 mm 3/8” 47 mm 10N48 | 10

TC0005 NI 7 11,2 mm 716" 47 mm 10N47 | 10

TC0006 [ D 8 12,7 mm 1/27 47 mm 10N46 | 10

TC0007 |:[] 10 15,7 mm 5/8” 47 mm 10N45 | 10

TC0008 I:l] 12 19 mm 3/4 47 mm 10N44 | 10

TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10

TC0092 1 D 6 9,5 mm 3/8” 76 mm 10N48L | 10

TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5 mm 020" 47 mm 10N29 | 10
TE0001-10 1,0 mm 040" 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TDO0001-05 0,5 mm 020" 50 mm 10N21 | 10
TD0001-10 1,0 mm 040" 50 mm 10N22 | 10
TDO0001-16 1,0 mm 040" 50 mm 10N23 | 10
TD0001-20 P 2,0 mm 1/16” 50 mm - 10
TDO0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TDO0001-32 3,2 mm 1/8” 50 mm 10N25 | 10
TDO0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TDO0001-48 4,8mm 3/16” 50 mm 30028 | 10

| | cope | [ ~ | CODE cABLE |Gy
TQO002 N insulator 10 THOO62 | 4m/125 | 1 R
TG1001 e tig torch head 1 TH0063 8m/25 1 3/ 24‘1 UNF LH
. 8 mm?
TPO0DS | (EEG—— tig handle 1
CODE —> M12x1 ‘
‘ (power) —
12| THO082 4m/125 1/4G (Gas) —
3/8 (H,0)——
12| THo083 8m/25

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

431




T|G WELDI NG trafimetdistribution.com

AUTOTIG 20

C € Ene0974-7

CODE <> | E | TECHNICAL DATA
SX4401-00 | 4m 12,5 \ a
IEL 0,85 kg ‘ 1.87 Ib
SX4801-00 | 8m 25° M V PEAK 113
. Argon
OE— | 05:32mm ‘ 020" = 1/8”
X 100% 250A DC - 220A AC
%a@ 4 bar
a3 1.5 I/min

| a
CONSUMABLES KIT /

TT0101 1,6 mm 1/16” maa

TT0102 2,4 mm 3/32”
/8
\ A

[ [

CONSUMABLES
NOT INCLUDED

432 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



AUTOTIG 20

trafimet

distributio

'YOUR WELDING PARTNER g

| | CODE Gr «—> REF gy

TC0012 1] [ 4 6,4 mm 1/47 30 mm 13N08 | 10

TC0013 C1 D 5 8 mm 5/16” 30 mm 13N09 | 10

TC0014 [ ] 6 9,8 mm 3/8” 30 mm 13N10 | 10

TC0015 [ ] 7 11,2 mm 7116” 30 mm 13N11 | 10

TC0016 I:[I 8 12,7 mm 1/2” 30 mm 13N12 | 10

TC0017 I:l] 10 15,7 mm 5/8” 30 mm 13N13 | 10

TC0096 ] 4 6,5 mm 1/4” 48 mm 796F71 | 10

TC0097 ] 5 8 mm 5/16” 48 mm 796F72 | 10

TC0098 1] 6 9,5 mm 3/8” 48 mm 796F73 | 10

TCO101 ] |« 6,5 mm 1/47 63 mm 796F75 | 10

TCO102 I:G] 5 8 mm 5/16” 63 mm 796F76 | 10

TC0103 I:@ 4 6,5mm 1747 89 mm 796F79 | 10
TE0003-05 0,5 mm 0207 21 mm 13N25 | 10
TE0003-10 1,0 mm 0407 21 mm 13N26 | 10
TE0003-16 i 1,6 mm 1/16” 21 mm 13N27 | 10
TE0003-20 2,0 mm 5/64” 21 mm - 10
TE0003-24 2,4 mm 3/32” 21 mm 13N28 | 10
TE0003-32 3,2mm 1/8” 21 mm 13N29 | 10
TD0003-05 0,5 mm 0207 25 mm 13N20 | 10
TD0003-10 1,0 mm 0407 25 mm 13N21 | 10
TD0003-16 . 1,6 mm 1/16” 25 mm 13N22 | 10
TD0003-20 2,0 mm 5/64” 25 mm - 10
TD0003-24 2,4 mm 3/32” 25 mm 13N23 | 10
TD0003-32 3,2mm 1/8” 25 mm 13N24 | 10

| | cope [ '~ | CODE caBle |y

TQO001 [U insulator 10 THO064 | 4m/125 | 1 o

TG1000 TPy tig torch head 1 TH0065 8m/25 1 1/4” 26‘3 UNF

TPO0O7 | (N tig handle 1

9 | copE <« | w2
(power) —
12| THo086 4m/125 1/4G (Gas) —
3/8 (H,0)—
12| THO087 8m/25

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

433




T|G WELDI NG trafimetdistribution.com

AUTOTIG 26

@'//077/'7707 _ " C € eneoora-7

CODE «—> C 3=A | TECHNICAL DATA
“
SN4401-00 | 4m 12.5° way
frm- 0,80 kg ‘ 1.76 Ib
SN4801-00 | 8m 25° M V PEAK 113
. Argon
oe— 0,5+4,0 mm ‘ .020” + 5/32”
X 35% 180A DC - 150A AC
CONSUMABLES KIT
TT0103 1,6 mm 1/16” / H
TT0104 2,4 mm 3/32”
TT0105 32mm 1/8” t —H
) ' [
CONSUMABLES

NOT INCLUDED

434 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio

AUTOTIG 26 'YOUR WELDING PARTNER ‘
| cooe | or | REF |yl
TC0002 m(l 4 6,4 mm 1/4” 47 mm 10N50 | 10
TG0003 () 5 8 mm 5/16” 47 mm 10N49 | 10
TC0004 (N 6 9,8 mm 3/8” 47 mm 10N48 | 10
TC0005 NI 7 11,2 mm 716" 47 mm 10N47 | 10
TC0006 [ D 8 12,7 mm 1/27 47 mm 10N46 | 10
TC0007 |:[] 10 15,7 mm 5/8” 47 mm 10N45 | 10
TC0008 I:I] 12 19 mm 3/4 47 mm 10N44 | 10
TC0091 —{ D 5 8 mm 5/16” 76 mm 10N49L | 10
TC0092 1 D 6 9,5 mm 3/8” 76 mm 10N48L | 10
TC0093 C 1D 7 11 mm 76 mm 10N47L | 10
TE0001-05 0,5 mm 020" 47 mm 10N29 | 10
TE0001-10 1,0 mm 040" 47 mm 10N30 | 10
TE0001-16 1,6 mm 1/16” 47 mm 10N31 | 10
TE0001-20 2,0 mm 5/64” 47 mm - 10
TE0001-24 2,4 mm 3/32” 47 mm 10N32 | 10
TE0001-32 3,2 mm 1/8” 47 mm 10N28 | 10
TE0001-40 4,0 mm 5/32” 47 mm 406488 | 10
TE0001-48 4,8 mm 3/16” 47 mm 30126 | 10
TDO0001-05 0,5 mm 020" 50 mm 10N21 | 10
TD0001-10 1,0 mm 040" 50 mm 10N22 | 10
TDO0001-16 1,0 mm 040" 50 mm 10N23 | 10
TDO0001-20 . 2,0 mm 1/16” 50 mm - 10
TDO0001-24 2,4 mm 3/32” 50 mm 10N24 | 10
TDO0001-32 3,2 mm 1/8” 50 mm 10N25 | 10
TDO0001-40 4,0 mm 5/32” 50 mm 54N20 | 10
TDO0001-48 4,8 mm 3/16” 50 mm 30028 | 10
| | cope | [ ~ | CODE CABLE
TQO002 N insulator 10 | |12| THO007 4m/125 <
TF1001 » E— tig torch head 1 12| THO008 8m/25 é
5/8” 18 UNF
TPooos | (N tig handle 1 16 "“mz
M12x1—

FOR ALL CONSUMABLES SEE PAGE 471

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

435




TIG WELDING

EASY 300

;//07?/'77 7

TIG
GENERATOR

trafimetdistribution.com

TECHNICAL DATA ‘

Input Voltage 115 -230 V - 50/60 Hz

230 V - 35 Vac (BX0430)
szhisitgi 115V - 35 Vac (BX0431)
Power 100 VA

Maximum welding
current

300A

Diameter of the wire
usable for steel filler
materials

0,8 mm + 1,2 mm

Diameter of the wire
usable for aluminium
alloys filler materials

1,0 mm + 1,6 mm

Wire spool size

@200 mm + @ 300 mm

Level of protection

IP 2X

Dimensions 480 x 205 x 295 mm
Net weigt (MU0621) 11,5 kg
I
LS ~ A \
| [ cooe [ &) | | come E S/
S12490D00 TORCH DUALTIG RC SUPER 18 4M EASY 300 P MuUo0621 WIRE FEEDER EASY 400 1
S62490D00 TORCH DUALTIG 20 SUPER 4M EASY 300 3 BX0430 transformer 230V- 42VAC 1
S92490D00 TORCH AUTOTIG 20 4M EASY 300 4 BX0520 cable50mm2- 1,5m
SK2490A00 TORCH DUALTIG RC 26 4M EASY 300
| DE |

Regolazione sinergica del trainafilo Regelung der synergetischen Drahtzufiihrung

1. Livello corrente portata filo
2. Tempo di ritorno del filo
3. Ritardo di partenza
4. Comando a distanza
5. Livello di corrente
6. Led di controllo
7. Frequenza pulsazione

8. Interruzione per pulsazione

Regulation of the synergetic wire feeder
1. Current level start wire

2. Wire retract time regulation

3. Delay start timer

4. Remote control connector

5. Welding current

6. Control led

7.Wire pulsation frequency

8. Automatic switch

1. StromgroBe Startdraht

2. Drahtaufrolizeitregelung
3. Timer Startverzégerung

4. Fernbedienungsanschluss
5. SchweiBstrom

6. LED Kontrollleuchte

7. Drahtpulsfrequenz

8. Automatikschalter

| FR |

Réglage synergique du dévidoir
. Niveau courant débit fil

. Temps de retour fil

. Retard départ fil

. Commande a distance

Niveau courant

Lampe de contrble

Fréquence impulsion

PN O s e N

Interrupteur pour impulsions

436 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio
EASY 300 'YOUR WELDING PARTNER ‘
| cope | [ T &y | cooe ‘ [ 5 >
BX0695 % a "’ REMOTE CONTROL 1 TT0172 AUTOMATIC WIRE FEEDING
TT0098 PROFESSIONAL CONTROL PANEL KIT 1 TT0173 o MANUAL WIRE FEEDING
TT0171 EASY 300 TROLLEY KIT 1

TECHNICAL DATA

TECHNICAL DATA

TECHNICAL DATA

a $12490D00 a9 $92490D00
X 100% 400A DC - 300A AC V PEAK 113
Argon Argon
il 9 L3 SK2490A00 i 9
oe— 0,532 mm ‘ .020” + 1/8” . (0] = 0,5+3,2 mm ‘ .020” + 1/8”
X 35% 400A DC - 300A AC
X 100% 320A DC - 250A AC X 100% 250A DC - 220A AC
@% 4 bar v PEAK 13 @% 4 bar
G 1.5 I/min ] Argon g 1.5 V/min
OE— | o05:40mm ‘ .020” + 5/32”
G 4 bar
a3 1.5 /min
A ~ A \ A ~
| cooe | E & [ cooe B &y | come | E L7
S62490D00 DUALTIG RC SUPER 20 S$12490D00 DUALTIG RC SUPER 18 S92490D00 AUTOTIG 20
BX0455 Potentiometer 1K 1 SK2490A00 DUALTIG RC 26 FE0189 wire guide holder
FA0026 liner nut M10X1 10 BX0455 Potentiometer 1K 1 GMO0096 graphite liner 200
FEO0169 wire guide holder 20HC FEO179 wire guide holder 18HC/26 MDO0222-08 0,8 Cu
GMO0096 graphite liner 200 GMO0096 graphite liner 200 MD0222-10 @1,0Cu
MD0222-08 0,8 Cu MD0222-08 30,8Cu MD0222-12 J1,2Cu
MD0222-10 @1,0Cu MD0222-10 @1,0Cu TG1010 tig torch head 1
MD0222-12 J1,2Cu MD0222-12 @1,2Cu TT0170 Tip kit 1
TCO0014 tig nozzle 10 TF0026 tig torch head 1
TDO0005-24 tig collet 10 TG0913 tig torch head 18HC 1
TEO0003-24 tig collet body 10 TT0170 Tip kit 1
TG0912 tig torch head 20HC 1
TT0170 Tip kit 1

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa

437




T|G WELDI NG trafimetdistribution.com

EASY 400

CLASSIC
SYSTEM

@7‘/07?/'7707

Input Voltage 115 -230V - 50/60 Hz Diameter of the wire usable for aluminium .
alloys filler materials 1,0mm = 1,6 mm
S 230 V - 35 Vac (BX0430) t4
115V - 35 Vac (BX0431) Wire spool size @200 mm + @ 300 mm
Power 100 VA Level of protection IP 2X
400A (100% work cycle) Dimensions 350 x 250 x 300 mm

Maximum welding current

[v)
460A (30% work cycle) Net weigt (MUO631) 9,0 kg

Diameter of the wire usable for steel filler

. 0,8 mm + 1,2 mm
materials

INFORMATION ON YOUR WELDING GENERATOR

Producer Brand / Model

CONNECTION CABLE ASSEMBLY

1,5 m Trafimet standard 4 m Trafimet standard 8 m Trafimet standard
cable assembly cable assembly cable assembly
TH0450-01-108 TH0450-04-108 TH0450-08-108

Trafimet standard cable connections

¢ Negative pole : TSK70 (CX0025)
¢ |IN water Quick Connector

e GAS mini quick connector

e 2 wires pin cable

e OUT water Quick Connector

e Positive Pole : TSK70 (CX0018)

438 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio
EASY 400 CLASSIC SYSTEM YOUR WELOING PAFTIER g

TRANSFORMER
220V 110V
BX0430 BX0431
WIRE FEEDER

EASY 400 CLASSIC (with 2 steel rollers set 0,8 + 1,0 mm included)

MUO0631
REMOTE CONTROL
4 m cable 8 m cable
BX1280 BX1281
TIG TORCH

TPRO Multi / AUTOTIG

> see the following page

EASY 400 CLASSIC ACCESSORIES

TROLLEY KIT FOR COIL WIRE INDEPENDENT WIRE OUTPUT KIT
For the use of EASY 400 CLASSIC with any torch

Wire feeding kit for TIG manual torches, Wire feeding kit for TIG automatic
complete of buttons for the wire speed torches, can be used in association with any
adjustment, loading and retract. automatic welding control equipment, or

robotic application.

@ Max 300 mm Kit for manual torches - 4 m Kit for automatic torches - 4 m

TT0174 TT0177 TTO0178

EASY 400 CLASSIC ROLLERS SETS

2 ROLLERS SET

For aluminium wire
g1,2+1,6 mm

For aluminium wire
31,0+1,2mm

For steel wire
g1,0+1,2mm

For steel wire
20,8 +1,0mm

FA0201 FA0202 FA0203 FA0204

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 439




T|G WELDI NG trafimetdistribution.com

EASY 400

CLASSIC SYSTEM

TIG TPRO Multi and
AUTOTIG torches

@7‘/07?/'7707

n Carbon liner

n Wire feeding kit

Contact tip

TPRO Multi 20HC EASY 400

= Water cooling [n] —o 0,5+ 3,2 mm
<> 4 m cable X 100% 320A DC - 250A AC
V Peak 113 2% 4 bar
A Gas Argon a3 1,5 I/min

TPRO Multi 20HC EASY 400 spare parts

Code Description Pack
B 1 GMO0096 Carbon liner 200 m
: f - 2 FE0169 TPRO Multi 20HC wire feeder kit (inclusive of TT0170 kit) 1
Q / 3 TTO170 3 contact tips kit @ 0,8 /1,0 /1,2 mm 1
3 MD0222-08 Contact tip for @ 0,8 mm wire 5
HB3804S-358-TG3 3 MDO0222-10 Contact tip for @ 1,0 mm wire 5
3 MDO0222-12 Contact tip for @ 1,2 mm wire 5
TPRO Multi 18HC EASY 400
= Water cooling [n] — 0,5+ 4,0 mm
<> 4 m cable X 100% 400A DC - 300A AC
V Peak 113 28 4 bar
Al Gas Argon 24 1,5 I/min

TPRO Multi 18HC EASY 400 spare parts

Code Description Pack
1 GMO0096 Carbon liner 200 m
2 FEO0179 TPRO Multi 18HC wire feeder kit (inclusive of TT0170 kit) 1
3 TTO0170 3 contact tips kit @ 0,8 /1,0/ 1,2 mm 1
3 MD0222-08 Contact tip for @ 0,8 mm wire 5
HB3304S-358-TG3 3 MDO0222-10 Contact tip for @ 1,0 mm wire 5
3 MDO0222-12 Contact tip for @ 1,2 mm wire 5

440 All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa



trafimet

distributio
EASY 400 CLASSIC SYSTEM YOUR WELOING PAFTIER g

TPRO Multi 26HC EASY 400

3 Air cooling A Gas Argon
<> 4 m cable o] — 0,5 + 4,0 mm
V Peak 113 X 35% 320A DC - 250A AC

TPRO Multi 26HC EASY 400 spare parts

Code Description Pack

1 GMO0096 Carbon liner 200 m

2 FEO179 TPRO Multi 26HC wire feeder kit (inclusive of TT0170 kit) 1

3 TTO0170 3 contact tips kit @0,8/1,0/ 1,2 mm 1

3 MD0222-08 Contact tip for @ 0,8 mm wire 5
HA2604S-358-TG3 3 MDO0222-10 Contact tip for @ 1,0 mm wire 5

3 MDO0222-12 Contact tip for @ 1,2 mm wire 5

AUTOTIG 20 EASY 400
= Water cooling [n] —o 0,5+ 3,2 mm

<> 4 m cable X 100% 250A DC - 220A AC

V Peak 113 2% 4 bar

A Gas Argon a3 1,5 I/min

AUTOTIG 20 EASY 400 spare parts

Code Description Pack

1 GMO0096 Carbon liner 200 m

2 FE0189 AUTOTIG 20 wire feeder kit (inclusive of TT0170 kit) 1

3 TTO0170 3 contact tips kit @0,8/1,0/ 1,2 mm 1

3 MD0222-08 Contact tip for @ 0,8 mm wire 5
HB2004P-358-TG3 3 MDO0222-10 Contact tip for @ 1,0 mm wire 5

3 MDO0222-12 Contact tip for @ 1,2 mm wire 5

AUTOTIG 18 EASY 400
= Water cooling "] — 0,5+ 4,0 mm

<> 4 m cable X 100% 320A DC - 270A AC

V Peak 113 2R 4 bar

Al Gas Argon 23 1,5 I/min

AUTOTIG 18 EASY 400 spare parts

Code Description Pack
1 GMO0096 Carbon liner 200 m
2 FE0189 AUTOTIG 18 wire feeder kit (inclusive of TT0170 kit) 1
3 TTO0170 3 contact tips kit @ 0,8 /1,0/ 1,2 mm 1
3 MD0222-08 Contact tip for @ 0,8 mm wire 5
HB3304P-358-TG3 3 MDO0222-10 Contact tip for @ 1,0 mm wire 5
3 MDO0222-12 Contact tip for @ 1,2 mm wire 5

All trademarks are of exclusive property of the respective companies. Data and images are indicative and may be changed in any time without notice. Copyright © 2016 Trafimet Group Spa 441





